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Quant  
 

31. 

 ŏūŉū ŬĶ ŬŉŗŶŘ Ķů ĸŐů őūŬŘ = x ƛŋŐŶ 

ŮΉņŬŅ 1 ŏƎ, ŏűœňŉ = x/5 ƛŋŐŶ, Ňő = 4%, 

śŏŐ = 2 ŗŚƈ 

Ŝŏ ĽūŉŅŶ ŜƑ, 

śūňūőń ʭūĽ = (ŏűœňŉ × Ňő × śŏŐ)/100 

śūňūőń ʭūĽ = (x × 4 × 2)/500 = 8x/500 ---
-(1) 

ŮΉņŬŅ 2 ŏƎ, ŏűœňŉ = x/6 ƛŋŐŶ, Ňő = 8%, 

śŏŐ = 2 ŗŚƈ 

Ŝŏ ĽūŉŅŶ ŜƑ, 

śūňūőń ʭūĽ = (x × 8 × 2)/600 = 16x/600 --
--(2) 

ŮΉņŬŅ 3 ŏƎ, Ňő = 2%, śŏŐ = 2 ŗŚƈ 

ŏűœňŉ = x - x/5 - x/6 = 19x/30 

Ŝŏ ĽūŉŅŶ ŜƑ, 

śūňūőń ʭūĽ = (19x × 2 × 2)/3000 = 
76x/3000 ----(3) 

śŏůĶőń 1, 2 ĳő 3, Ķź ĽźšŉŶ ŋő, ŜŏƎ Ƭūʏ 

ŜźŅū Ŝŷ, 

ᵼ 578 = 8x/500 + 16x/600 + 76x/3000 

ᵼ 578 = 204x/3000 

ᵼ 578 = 68x/1000 

ᵼ x = 8500 ƛŋŐŶ 

Ḉ ŏűœ őūŬŘ 8500 ƛŋŐŶ Ŝŷί 

 

32.  

ŏūŉū ĶŏƈĻūŭőŐźƁ Ķů śƁǣū X ĳő ƬūőƁŬŎĶ 

ĳśŅ ĥŐŰ Y ŗŚƈ Ŝŷί 

Ḉ śŎů ĶŏƈĻūŭőŐźƁ Ķů ĶŰ œ ƬūőƁŬŎĶ ĥŐŰ XY 

ŗŚƈ ņůί 

Ňů ĸħ ĽūŉĶūőů ĶŶ ĤŉŰśūő- 

ĶūŐūƈœŐ ŏƎ ĶŏƈĻūŭőŐźƁ Ķů śƁǣū ŏƎ 7 : 6 ĶŶ 

ĤŉŰŋūŅ ŏƎ Ķŏů ĥħ Ŝŷ 

Ķŏů ĶŶ ōūŇ ĶŏƈĻūŭőŐźƁ Ķů śƁǣū 6X/7 Ŝźĸů 
----(1) 

ĳő ĶŏƈĻūőů śƁǣū ŏƎ Ķŏů ĶŶ ōūŇ ĥŐŰ ōŢů 
= 22Y/21 ----(2) 

ĶŏƈĻūŭőŐźƁ Ķů ĶŰ œ ōŇœů ĥŐŰ = (6X/7) × 
(22Y/21) = 132XY/147 

Ņź ŋŜœŶ ĳő ōūŇ ŏƎ ĶŰ œ ĥŐŰ Ķū ĤŉŰŋūŅ 

Ŝźĸū - 

ƬūőƁŬŎĶ ĥŐŰ: ōŇœů ĥŐŰ = XY : 
(132XY/147) 

ᵼ 147 Ḋ 132 = 49 : 44 

 

33.  

ƬĶūő 1 Ķū Ļūŗœ = 109 ƛŋŐŶ ƬŬŅ ŬĶœź 

ƬĶūő 2 Ķū Ļūŗœ = 63 ƛŋŐŶ ƬŬŅ ŬĶœź 

ŬŏƳń Ķū ŬŗƠŐ ŏű ̃= 72 ƛŋŐŶ ƬŬŅ ŬĶœź 

ŬŏƳń Ķū ƠŐ ŏű˜ = 10096 × 72 = 7510096 

× 72 = 75 ƛŋŐŶ ƬŬŅ ŬĶœź 

 

34 Ḋ 12 

17 Ḋ 6 

Ḉ ƬĶūő 1 Ḋ ƬĶūő 2 = 6 Ḋ 17 

 



34. 

ŜŏƎ ŋŅū Ŝŷ, ĳśŅ = őūŬŘŐźƁ Ķū Őźĸ/ őūŬŘŐźƁ 

Ķů śƁǣū 

ŏūŉ œź ŋŭőŗūő ŏƎ ŋŰƚŚźƁ Ķů śƁǣū x Ŝŷ ί 

ḉ ŏŬŜœūĲƁ Ķů ŏūŬśĶ ĳśŅ ķŋŅ 10 ŬĶƢū 

ƬŬŅ ˧ Ůǃ Ŝŷ, 

10 = ŏŬŜœūĲƁ Ķů ĶŰ œ ķŋŅ/4 

ᵼ ŏŬŜœūĲƁ Ķů ĶŰ œ ķŋŅ = 40 

ĳő, ŋŰƚŚźƁ Ķů ŏūŬśĶ ĳśŅ ķŋŅ 16 ŬĶƢū 

ƬŬŅ ˧ Ůǃ Ŝŷ, 

16 = ŋŰƚŚźƁ Ķů ĶŰ œ ķŋŅ/x 

ᵼ ŋŰƚŚźƁ Ķů ĶŰ œ ķŋŅ = 16x 

ƬŬŅ ˧ Ůǃ ŋŭőŗūő Ķů ŏūŬśĶ ĳśŅ ķŋŅ = 

12 ŬĶƢū 

ᵼ śŇ̝źƁ Ķů ĶŰ œ śƁǣū = 4 + x 

Ḉρς  
τπ ρφὼ

τ ὼ
 

ᵼ 40 + 16x = 12 × (4 + x) 

ᵼ 40 + 16x = 48 + 12x 

ᵼ 4x = 8 

ᵼ x = 8/4 = 2 

Ḉ ŋŭőŗūő ŏƎ ŋŰƚŚźƁ Ķů śƁǣū = 2 

 

35.  

ŏūŉū A ŉŶ ŗśžŅŰ Ķź x ƛŋŐŶ ĶŶ œūĸŅ ŏű ̃ŋő 

ķőůŇū Ŝŷί 

A ŉŶ 24% Ķů ŜūŬŉ ĶŶ śūņ B Ķź ōŶĻ ŬŇŐū 

Ḉ ŬŗƠŐ ŏűœžŐ 1 = 76x/100 

B ŉŶ ĦśŶ 10% Ķů ŜūŬŉ ŋő C Ķź ōŶĻ ŬŇŐū 

Ḉ ŬŗƠŐ ŏűœžŐ 2 = 90 ŬŗƠŐ ŏűœžŐ 1/100 = 
16416 

16416 = (76x/100) × (90/100) 

Ḉ x = 24,000 ƚŋŐŶ 

Ĥō, ŐŬŇ ŬŗƠŐ ŏűœžŐ 1 20,400 ƚŋŐŶ ņū, Ņź 

ŜūŬŉ Ŝźĸů 

ŜūŬŉ% = [(24000 - 20400)/24000] × 100 = 
15% 

ŜūŬŉ% = 15% 

 

36.  

ᵼ 869.945 + (10.041)2 × 65.012 - 3451.987 
- (14.985)3 = ? 

ŏūŉźƁ Ķź ĨŉĶŶ ŬŉĶŀŅŏ ŋűńūƋĶ ŏƎ ōŇœŉŶ 

ŋő: 

ᵼ 870 + 102 × 65 - 3452 - 153 = ? 

ᵼ 870 + 100 × 65 - 3452 - 3375 = ? 

ᵼ 870 + 6500 - 3452 - 3375 = ? 

ᵼ 7370 - 6827 = ? 

ᵼ ? = 543 

 

37. 

4331 Ķū 9.897% + 2501 Ķū 29.779% = ? 

ŏūŉźƁ Ķź ĨŉĶŶ ŬŉĶŀŅŏ ŋűńūƋĶ ŏƎ ōŇœŉŶ 

ŋőƂ 

ᵼ 4330 Ķū 10% + 2500 Ķū 30% = ? 

ᵼ ρπ  
τσσπ

ρππ
σπ  

ςυππ

ρππ
  ȩ 

ᵼ ? = 433 + 750 = 1183 ≈ 1180 

 

38.  

(10.097)2 + (3.98)3 × 5.05 = 20.95 × ? 

ŏūŉźƁ Ķź ĨŉĶŶ ŬŉĶŀŅŏ ŋűńūƋĶ ŏƎ ōŇœŉŶ 

ŋőƂ 

102 + 43 × 5 = 21 × (?)  

100 + 64 × 5 = 21 × (?)  



100 + 320 = 21 × (?)  

420 = 21 × (?)  

? = 420/21 

? = 20 

 

39. 

(1050.02 ÷ 34.98 + 187 × 20.02) ÷ 12.95 = 
? 

ŏūŉźƁ Ķź ĨŉĶŶ ŬŉĶŀŅŏ ŋűńūƋĶ ŏƎ ōŇœŉŶ 

ŋőƂ 

ᵼ (1050 ÷ 35 + 187 × 20) ÷ 13 = ?  

ᵼ (30 + 3740) ÷ 13 = ?  

ᵼ 3770/13 = ?  

ᵼ ? = 290 

 

40.  

49.984% of 5085.875 - 3 ÷ 7 × 902.897 = ? 

ŏūŉźƁ Ķź ĨŉĶŶ ŬŉĶŀŅŏ ŋűńūƋĶ ŏƎ ōŇœŉŶ 

ŋőƂ 

ᵼ 50% × 5086 - 3 ÷ 7 × 903 = ?  

ᵼ (50/100) × 5086 – (3/7) × 903 = ?  

ᵼ 2543 - 387 = ?  

ᵼ ? = 2156 

 

41.  

śōśŶ ŋŜœŶ Ŝŏ ĽūŉĶūőů śŶ łūŀū ȐūŅ ĶőƎĸŶ 

ļūƧźƁ Ķů ĶŰ œ śƁǣū = 2550 

œšĶźƁ Ķů śƁǣū = (204/425) × 2550 = 1224 

œšŬĶŐźƁ Ķů śƁǣū = 2550 -1224 = 1326 

ŬŋŐūŉź ĶǕū : 

œšĶźƁ Ķů śƁǣū = 356 

œšŬĶŐźƁ Ķů śƁǣū = 356/4 = 89 

ōūƁśŰőů ĶǕū : 

ĶŰ œ ļūƧ = (28/100) × 2550 = 714 

œšĶźƁ Ķů śƁǣū = (42/119) × 714 = 252 

œšŬĶŐźƁ Ķů śƁǣū = 714 -252 = 462 

ĲōūĨ ĶǕū : 

œšŬĶŐźƁ Ķů śƁǣū = (50/100) × 1326 = 663 

śŶœź ĶǕū : 

œšĶźƁ Ķů śƁǣū = (25/100) × 1224 = 306 

śŶœź ŏƎ œšŬĶŐźƁ Ķů śƁǣū = 1326 -89 -462 -
663 = 112 

ĲōūĨ ŏƎ œšĶźƁ Ķů śƁǣū = 1224 -356 -252 
-306 = 310 

ŬŋŐūŉź ĶǕū ŏƎ ĨŋŮΉņŅ œšŬĶŐźƁ Ķů śƁǣū = 
89 

ōūƁśŰőů ĶǕū ŏƎ ĨŋŮΉņŅ œšŬĶŐźƁ Ķů śƁǣū = 
462 

œšŬĶŐźƁ Ķů ĶŰ œ śƁǣū = 89 + 462 = 551 

 

42.  

ōūƁśŰőů ĶǕū ŏƎ œšĶźƁ Ķů śƁǣū = 252 

ĲōūĨ ĶǕū ŏƎ œšŬĶŐźƁ Ķů śƁǣū = 663 

Őźĸ = 252 + 663 = 915 

 

43.  

ōūƁśŰőů ĶǕū ŏƎ œšĶźƁ Ķů śƁǣū = 252 

ĲōūĨ ĶǕū ŏƎ œšĶźƁ Ķů śƁǣū = 310 

ĶŰ œ śƁǣū = 252 + 310 = 562 

śŶœź ĶǕū ŏƎ œšŬĶŐźƁ Ķů śƁǣū = 112 

śŶœź ĶǕū ŏƎ œšĶźƁ Ķů śƁǣū = 306 

ĶŰ œ śƁǣū = 112 + 306 = 418 

ĤŉŰŋūŅ = 562 Ḋ 418 = 281 Ḋ 209 



 

44.  

śŶœź ĶǕū ŏƎ œšĶźƁ Ķů śƁǣū = 306 

ĲōūĨ ĳő ŬŋŐūŉź ĶǕū ŏƎ ļūƧźƁ Ķů śƁǣū = 
663 + 310 + 356 + 89 = 1418 

ĤŎů˺ ƬŬŅŘŅ = (306/1418) × 100 = 
21.58% 

 

45.  

ōūƁśŰőů ĶǕū ŏƎ ļūƧźƁ Ķů ĶŰ œ śƁǣū ĶŶ śƁŇŎƈ ŏƎ 

ŬŋŐūŉź ĶǕū ŏƎ œšĶźƁ Ķū ƬŬŅŘŅ = 
(356/714) × 100 = 49.86% 

śŶœź ĶǕū ŏƎ ļūƧźƁ Ķů ĶŰ œ śƁǣū ĶŶ śƁŇŎƈ ŏƎ 

ōūƁśŰőů ĶǕū ŏƎ œšŬĶŐźƁ Ķū ƬŬŅŘŅ = 
(462/418) × 100 = 110.53% 

ƬŬŅŘŅ ŏƎ ĤƁŅő = 110.53 - 49.86 = 60.67% 

 

46.  

Ƭ˰ūŉŰśūő, 

50% Őū 25 œšŬĶŐźƁ Ķź ļūƧŗŲŬɃ Ƭūʏ ŜźŅů 

Ŝŷ, ĤŅƂ ŏūŉū ĶǕū ŏƎ œšŬĶŐźƁ Ķů śƁǣū x Ŝŷ 

Ḉ x Ķū 50% = 25 

ᵼ x = 50 

ĤŅƂ ĶǕū ŏƎ œšŬĶŐźƁ Ķů śƁǣū 50 Ŝŷ 

œšĶŶ ĳő œšŬĶŐźƁ Ķů śƁǣū Ķū ĤŉŰŋūŅ 4 : 

5 Ŝŷί ŏūŉū ĶŰ œ ļūƧźƁ Ķů śƁǣū y Ŝŷ 

5y/9 = 50 

y = 90 

ĤŅƂ ĶǕū ŏƎ ĶŰ œ ļūƧźƁ Ķů śƁǣū 90 Ŝŷί 

 

47.  

ŬœŐū ĸŐū ĶŰ œ śŏŐ = 8 ĹƁŀū 

ĳśŅ ĸŬŅ 75 ŬĶŏů/ĹƁŀū Ŝŷί 

ĶŰ œ Ňűőů = 75 × 8 = 600 ŬĶŏů 

Ķūő śŶ ŅŐ Ķů ĸŐů Ňűőů = 120 ŬĶŏů 

Ķūő Ķů ŐūƧū = 3 ĹƁŀū 

Ķūő Ķů ĸŬŅ = 120/3 = 40 ŬĶŏů/ĹƁŀū 

ŀƊŶŉ ɨūőū ŅŐ Ķů ĸŐů Ňűőů = 600 – 120 = 480 

ŬĶŏů 

ŀƊŶŉ ɨūőū ŬœŐū ĸŐū śŏŐ = 8 – 3 = 5 ĹƁŀū 

ŀƊŶŉ Ķů ĸŬŅ = 480/5 = 96 ŬĶŏů/ĹƁŀū 

ŀƊŶŉ ĳő Ķūő Ķů ĸŬŅ ĶŶ ōůĻ Ķū ĤƁŅő = 96 – 

40 = 56 ŬĶŏů/ĹƁŀū 

 

48. 

ĮĶ ŬŇŉ ŏƎ P ĶŶ ɨūőū ŬĶŐū ĸŐū Ķūŏ = 1/20 

Ḉ 4 ŬŇŉźƁ ŏƎ P ĶŶ ɨūőū ŬĶŐū ĸŐū Ķūŏ = (1/20) 
× 4 = 1/5 

Ḉ ŘŶŚ Ķūŏ = 1 – (1/5) = 4/5 

P ĳő Q ĶŶ ɨūőū ĮĶ ŬŇŉ ŏƎ ŬĶŐū ĸŐū Ķūŏ = 
(1/20) + (1/12) = 2/15 

Ĥō, P ĳő Q ĶŶ ɨūőū ĮĶ ŬŇŉ ŏƎ 2/15 ĸŰŉū 

Ķūŏ ŬĶŐū ĸŐū|  

 

Ḉ P ĳő Q ĶŶ ɨūőū 4/5 ĸŰŉū Ķūŏ ŬĶŐū ĽūŐŶĸū 

=    = ŬŇŉźƁ ŏƎ 

Ḉ Ķūŏ ŜźŉŶ Ķů ŬŇŉźƁ Ķů śƁǣū = (6 + 4) = 10 

ŬŇŉ 

 

49. 

ŏūŉū ŬĶ ŀƊŶŉ A Ķů œƁōūħ x ŏůŀő Ŝŷ 

ŏūŉū Ķů ŀƊŶŉ B Ķů ĸŬŅ y ŏůŀő Ŝŷ 

śƁōƁŬňŅ Ňűőů = śƁōƁŬňŅ ĸŬŅ × ŋūő ĶőŉŶ/ĥĸŶ 

ŬŉĶœŉŶ ŏƎ ŬœŐū ĸŐū śŏŐ 

ŀƊŶŉ A Ķů ĸŬŅ = 72 ŬĶŏů/ĹƁŀū = 72 × (5/18) 

= 20 ŏůŀő/śŶĶƁ ł 



ŀƊŶŉ B Ķů ĸŬŅ = 54 ŬĶŏů/ĹƁŀū = 54 × (5/18) = 

15 ŏůŀő/śŶĶƁ ł 

Ľō ŇźŉźƁ ŬŗŋőůŅ ŬŇŘū ŏƎ ĻœŅů ŜƑ: 

2 ŀƊŶŉ Ķů śƁōƁŬňŅ ĸŬŅ = 20 + 15 = 35 

ŏůŀő/śŶĶƁ ł 

ŋūő ĶőŉŶ Ķū śŏŐ = 10 śŶĶƁ ł 

2 ŀƊŶŉźƁ ĶŶ ōůĻ Ķů śƁōƁŬňŅ Ňűőů = 35 × 10 = 

350 ŏůŀő 

Ľō ŇźŉźƁ ĮĶ Ŝů ŬŇŘū ŏƎ ĻœŅů ŜƑ : 

2 ŀƊŶŉ Ķů śƁōƁŬňŅ ĸŬŅ = 20 – 15 = 5 

ŏůŀő/śŶĶƁ ł 

ŋūő ĶőŉŶ Ķū śŏŐ = 45 śŶĶƁ ł 

Ņź, ŅŶŠ ŀƊŶŉ ňůŏů ŀƊŶŉ Ķů śʺűńƈ œʼūħ Ķů 

ōőūōő Ňűőů ŅŐ ĶőŶĸů 

ňůŏů ŀƊŶŉ Ķů œʼūħ Ŝźĸů = 45 × 5 = 225 = y  

ŇźŉźƁ ŀƊŶŉźƁ ĶŶ ōůĻ Ķů Ňűőů = x + y = 350 

x = 350 - 225 = 125 ŏů 

ĤƁŅő = 225 - 125 = 100 ŏů 

 

50.  

Ŝŏ ĽūŉŅŶ ŜƑ ŬĶ ĥŐŅ Ķū ǕŶƧŌœ A = œƁōūħ 

x ĻŻšūħ 

Ḉ ŏŷŇūŉ Ķū ǕŶƧŌœ = 130 × 90 = 11700 ŗĸƈ 

ŏůŀő 

Ĥō ŏŷŇūŉ Ķů śůŏū ĶŶ ŁůĶ Ĥɻő 15 ŏůŀő 

ĻŻšūħ Ķů ĮĶ őźł Ķū Ŭŉŏūƈń ŬĶŐū ĸŐū, 

Ḉ ĥɴŭőĶ ĥŐŅ Ķů œƁōūħ ĳő ĻŻšūħ 

ōūŜőů ĥŐŅ Ķů œƁōūħ ĳő ĻŻšūħ śŶ ŇźŉźƁ 

Ĳő 15 ŏů Ķŏ Ŝźĸů|  

Ḉ ĥɴŭőĶ ĥŐŅ Ķů œƁōūħ = 130 – 15 – 15 

= 100 ŏů 

ĥɴŭőĶ ĥŐŅ Ķů ĻŻšūħ = 90 – 15 – 15 = 

60 ŏů 

Ḉ ĥɴŭőĶ ĥŐŅ Ķū ǕŶƧŌœ = 100 × 60 = 

6000 ŗĸƈ ŏůŀő 

Ĥō, őźł Ķū ǕŶƧŌœ = ĥŐŅūĶūő ŏŷŇūŉ Ķū 

ǕŶƧŌœ – ĥɴŭőĶ ĥŐŅ Ķū ǕŶƧŌœ 

Ḉ őźł Ķū ǕŶƧŌœ = 11700 – 6000 = 5700 

ŗĸƈ ŏů 

 

51.  

ᵼ 175 Ķū 88% + 600 Ķū 6% = 75 Ķū ?% + 

500 Ķū 16% + 86 

ᵼ (88/100) × 175 + (6/100) × 600 = 
(?/100) × 75 + (16/100) × 500 + 86 

ᵼ 154 + 36 = (3/4) × ? + 80 + 86 

ᵼ 190 = (3/4) × ? + 166 

ᵼ (3/4) × ? = 190 – 166 

ᵼ (3/4) × ? = 24 

ᵼ ? = 24 × (4/3) 

ᵼ ? = 8 × 4 

Ḉ ? = 32 

 

52. 

ᵼ 444 ÷ 2 – 175 Ķū 28% = 1200 Ķū ?% – 

400 Ķū 27% – 31 

ᵼ 444 ÷ 2 – (28/100) × 175 = (?/100) × 
1200 – (27/100) × 400 – 31 

ᵼ 222 – 7 × 7 = 12 × ? – 27 × 4 – 31 

ᵼ 222 – 49 = 12 × ? – 108 – 31 

ᵼ 173 = 12 × ? – 108 – 31 

ᵼ 173 = 12 × ? – 139 

ᵼ 12 × ? = 173 + 139 

ᵼ 12 × ? = 312 

ᵼ ? = 312/12 

Ḉ ? = 26 



53. 

ᵼ 981 ÷ 9 × 4 + 144 = 21 × 28 – ? 

ᵼ 109 × 4 + 144 = 21 × 28 – ? 

ᵼ 436 + 144 = 21 × 28 – ? 

ᵼ 436 + 144 = 588 – ? 

ᵼ 580 = 588 – ? 

ᵼ ? = 588 – 580 

Ḉ ? = 8 

 

54.  

ᵼ (1142 ÷ 2) + 189 – 66 × 8 = 33 × ? + 100 

ᵼ 571 + 189 – 66 × 8 = 33 × ? + 100 

ᵼ 571 + 189 – 528 = 33 × ? + 100 

ᵼ 760 – 528 = 33 × ? + 100 

ᵼ 232 = 33 × ? + 100 

ᵼ 232 – 100 = 33 × ? 

ᵼ 132 = 33 × ? 

ᵼ ? = 132/33 

Ḉ ? = 4 

 

55.  

12960.13 × 12960.12 = ? 

ᵼ 12960.13 + 0.12 

ᵼ 12960.25 

Ḉ (64)0.25 = 6 

 

56.  

I. 3x2 – 13x + 14 = 0 

ᵼ 3x2 – 6x – 7x + 14 = 0 

ᵼ 3x(x – 2) – 7(x – 2) = 0 

ᵼ (3x – 7)(x – 2) = 0 

Ņō, x = 7/3 Őū x = 2 

II. 2y2 – 3y – 2 = 0 

ᵼ 2y2 – 4y + y – 2 = 0 

ᵼ 2y(y – 2) + 1(y – 2) = 0 

ᵼ (2y + 1)(y – 2) = 0 

Ņō, y = -1/2 Őū y = 2 

Ņź, Ľō x = 7/3, y = -1/2 ĶŶ ŬœĮ x > y Ŝŷ ĳő 

y = 2 ĶŶ ŬœĮ x > y Ŝŷ 

ĳő Ľō x = 2, y = -1/2 ĶŶ ŬœĮ x > y Ŝŷ ĳő y 

= 2 ĶŶ ŬœĮ x = y Ŝŷ 

Ḉ śŜů ŬŗĶ ̠3 Ŝŷί 

 

57.  

I. 2x2 + 3x - 2 = 0 

ᵼ 2x2 – x + 4x - 2 = 0 

ᵼ x (2x - 1) + 2(2x - 1) = 0 

ᵼ (2x – 1) (x + 2) = 0 

Ņō, x = 1/2 Őū x = -2 

II. 2y2 – 17y + 30 = 0 

ᵼ 2y2 – 5y - 12y + 30 = 0 

ᵼ 2y(y – 5/2) – 12(y – 5/2) = 0 

ᵼ (2y - 12)(y – 5/2) = 0 

Ņō, y = 6 Őū y = 5/2 

Ľō x = 1/2, y = 6 ĶŶ ŬœĮ x < y Ŝŷ ĳő y = 

5/2 ĶŶ ŬœĮ x < y Ŝŷ 

Ľō x = -2, y = 6 ĶŶ ŬœĮ x < y Ŝŷ ĳő y = 5/2 

ĶŶ ŬœĮ x < y Ŝŷ 

Ḉ śŜů ŬŗĶ ̠2 Ŝŷί 

 

58. 

I. 49x2 – 84x + 36 = 0 

ᵼ 49x2 – 42x – 42x + 36 = 0 



ᵼ 7x (7x – 6) – 6(7x – 6) = 0 

ᵼ (7x – 6)(7x – 6) = 0 

Ņō, x = +6/7 

II. 25y2 – 30y + 9 = 0 

ᵼ (5y – 3)2 = 0 

ᵼ (5y – 3)(5y – 3) = 0 

Ņō, y = +3/5 

ĤŅ: Ľō x = +6/7, y = +3/5 ĶŶ ŬœĮ x > y 

Ḉ Ŝŏ ŇŶķ śĶŅŶ ŜƑ ŬĶ x > y Ŝŷί 

 

59.  

I. x2 – 6x = 7 

ᵼ x2 – 6x – 7 = 0 

ᵼ x2 – 7x + x – 7 = 0 

ᵼ x(x – 7) + 1(x – 7) = 0 

ᵼ (x – 7)(x + 1) = 0 

ĤŅ :, x = 7 or x = -1 

II. 2y2 + 13y + 15 = 0 

ᵼ 2y2 + 10y + 3y + 15 = 0 

ᵼ 2y(y + 5) + 3(y + 5) = 0 

ᵼ (y + 5)(2y + 3) = 0 

ĤŅ : y = -5 or y = -3/2 

ĦśŬœĮ Ľō x = 7, x > y y = -5 ĶŶ ŬœĮ ĳő x 

> y ĶŶ ŬœĮ y = -3/2 

ĦśŬœĮ Ľō x = -1, x > y y = -5 ĶŶ ŬœĮ ĳő x 

> y ĶŶ ŬœĮ y = -3/2 

Ḉ x > y 

 

60. 

I. x2 – 26x – 192 = 0 

ᵼ x2 – 32x + 6x – 192 = 0 

ᵼ x(x – 32) + 6(x – 32) = 0 

ᵼ (x – 32)(x + 6) = 0 

ŬŌő, x = +32 Őū x = -6 

II. y2 – 31y – 102 = 0 

ᵼ y2 – 34y + 3y – 102 = 0 

ᵼ y(y – 34) + 3(y – 34) = 0 

ᵼ (y – 34)(y + 3) = 0 

ŬŌő, y = +34 Őū y = -3 

Ņź, Ľō x = +32, y = +34 ĶŶ ŬœĮ x < y ĳő y 

= -3 ĶŶ ŬœĮ x > y 

ĳő Ľō x = -6, y = +34 ĶŶ ŬœĮ x < y ĳő y = 

-3 ĶŶ ŬœĮ x < y 

Ḉ Ņź Ŝŏ ŇŶķ śĶŅŶ ŜƑ ŬĶ x ĳő y ĶŶ ōůĻ 

Ķźħ ̗  ˺śƁōƁň ŬŉňūƈŭőŅ ŉŜůƁ ŬĶŐū Ľū śĶŅū 

Ŝŷί 

 

61.  

 

 

62.  

 

 

63. 

 

 

64.  

ᵼ 6 × 1 + 3 = 9 



ᵼ 9 × 2 + 3 = 21 

ᵼ 21 × 3 + 3 = 66 

ᵼ 66 × 4 + 3 = 267 

ᵼ 267 × 5 + 3 = 1338 = ? 

 

65.  

ᵼ 24 × 0.5 – 2 = 10 

ᵼ 10 × 1 – 2 = 8 = ? 

ᵼ 8 × 1.5 – 2 = 10 

ᵼ 10 × 2 – 2 = 18 

ᵼ 18 × 2.5 – 2 = 43 

 

Logical Reasoning 

 

66. 

Ňů ĸŐů ƳŲƁķœū: 

N 6 & F K ~ G U 7 S # A 8 Z T * E W P 5 B € 
X @ J Z H 4 I ^ 3 V O 2 C 

ĻűſŬĶ, ōūŐūſ - ōūŐūſ = ōūŐūſ 

ᵼ ōūĮſ śŶ ļŁŗūſ - ōūĮſ śŶ śɃūħśŗūſ = ōūĮſ śŶ 

Ħƽůśŗūſ 

Ĥō, N 6 & F K ~ G U 7 S # A 8 Z T * E W P 
5 B € X @ J Z H 4 I ^ 3 V O 2 C 

̗˺ŅƂ, ōūĮſ śŶ Ħƽůśŗūſ B Ŝŷί 

 

67.  

Ňů ĸŐů ƳŲƁķœū ŏƎ: 

N 6 & F K ~ G U 7 S # A 8 Z T * E W P 5 B € 
X @ J Z H 4 I ^ 3 V O 2 C 

ĦśŬœĮ, įśū ĶŶ ŗœ ĮĶ ŬĻ̣ Ŝŷ ŬĽśĶŶ ŁůĶ 

ŋŜœŶ ĮĶ śƁǣū ĥŅů Ŝŷ ĳő ŁůĶ ōūŇ ŏƎ ĮĶ 

ŗńƈ ĥŅū Ŝŷ: 6 & Fί 

 

68.  

Ňů ĸŐů ƳŲƁķœū ŏƎ: 

N 6 & F K ~ G U 7 S # A 8 Z T * E W P 5 B € 
X @ J Z H 4 I ^ 3 V O 2 C 

ĦśŬœĮ, įśū ĶŶ ŗœ ĮĶ ˧ ƁĽŉ Ŝŷ ŬĽśĶŶ ŁůĶ 

ōūŇ ĮĶ ̠ ő ĥŅū Ŝŷ œŶŬĶŉ ŁůĶ ŋŜœŶ ŬĻ̣ 

ŉŜůƁ ĥŅū Ŝŷ: 3 V O 

 

69.  

Ňů ĸŐů ƳŲƁķœū: 

N 6 & F K ~ G U 7 S # A 8 Z T * E W P 5 B € 
X @ J Z H 4 I ^ 3 V O 2 C 

4HZ Ķź ļźšĶő ŘŶŚ śŎů ŬŉŬˬŅ ŬŉŐŏ Ķū 

ŋūœŉ ĶőŅŶ ŜƑί 

 

70.  

 

 

71.  

 

‘bird’ – Ƭ  ˰ŏƎ ŉŜůƁ ŬŇŐū ĸŐū Ŝŷ 

‘of’ – fa 

‘the’ – so 



‘rainbow’ – ro 

‘sky’ – la 

‘bird of the rainbow Sky’ ŗūǎ ĶŶ Ķű ŀ ŏƎ 

Ķű ŀōɞ Řʦ ŜźƁĸŶ – fa, so, ro, la ĳő ĮĶ 

Řʦ Ŝźĸū, Ľź Ƭ  ˰ŏƎ ŉŜůƁ ŬŇŐū ĸŐū Ŝŷί 

 

72.  

ŬŇŐū ƞĥ Ŝŷ, 

ōǙŶ: A, B, C, D, E, F G ĳő H 

őƁĸ: ōƑĸŉů, œūœ, ŉůœū, ŋůœū, Ŝőū, śŌŶ Ň ĳő 

Ķūœū 

ĸƎŇźƁ Ķů śƁǣū: 4, 7, 9, 11, 12, 15 ĳő 16 

1) ŘůŚƈ ŋő őķŶ ĸĮ ōǙŶ ŏƎ ĸƎŇźƁ Ķů śƁǣū śŏ 

śƁǣū Ķū ŋűńƈ ŗĸƈ Ŝŷί 

2) 12 ĸƎŇźƁ ŗūœū ōǙū 4 ĸƎŇźƁ ŗūœŶ ōǙŶ ĶŶ 

ŁůĶ ŉůĻŶ Ŝŷί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

    16 

      

      

      

      

      

      

      

      

  

ŮΉņŬŅ: 2 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

    4 

    12 

      

      

      

      

      

      

  

3) ōǙū A ĳő ōǙū C ŏƎ ĸƎŇźƁ Ķū Őźĸ 24 Ŝŷί 

4) ōǙū C ĳő ōǙū F ŏƎ ĸƎŇźƁ Ķū ĤƁŅő 8 Ŝŷί 

ōǙū E ĳő ōǙū G ŏƎ ĸƎŇźƁ Ķū ĤƁŅő 5 Ŝŷί 

5) ōǙū E ĳő ōǙū A ĶŶ ōůĻ Ňź ōǙŶ ŜƑ 

ĳő ĨŉŏƎ śŶ ŇźŉźƁ ŏƎ ĸƎŇźƁ Ķů ĶŰ œ śƁǣū ĮĶ 

ŋűńƈ ŗĸƈ Ŝŷί 

(Ķņŉ 3, 4, 5 ĳő 6 śŶ ŜŏūőŶ ŋūś ōǙŶ ŏƎ 

ĸƎŇźƁ Ķů śƁǣū C = 15, A = 9, F = 7, E = 16 

ĳő G = 11 Ŝŷί ĦśŬœĮ, ōǙū D ŏƎ 4 Őū 12 

ĸƎŇƎ ŜƑί) 

6) ōǙū F, ōǙū D ĶŶ ŁůĶ ĩŋő őķū ĸŐū 

Ŝŷί ōǙū D œūœ őƁĸ Ķū Ŝŷί 

7) śŌŶ Ň ōǙŶ Ķź œūœ őƁĸ ĶŶ ōǙŶ ĶŶ ŁůĶ 

ŉůĻŶ őķū ĸŐū Ŝŷί 

8) 12 ĸƎŇźƁ ŗūœū ōǙū 4 ĸƎŇźƁ ŗūœŶ ōǙū ĶŶ 

ŁůĶ ŉůĻŶ Ŝŷί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E   16 

  ŉůœū   



      

      

F   7 

D œūœ 4 

  śŌŶ Ň 12 

  

ŮΉņŬŅ: 2 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

F   4 

D   12 

      

      

      

      

      

      

  

ŮΉņŬŅ: 2 őɜ Ŝź ĽūŅů Ŝŷ ǎźƁŬĶ ōǙū F ŏƎ 4 

ĸƎŇ ŉŜůƁ Ŝŷί 

9) ōǙū D ĳő ōǙū G ĶŶ ōůĻ Ņůŉ ōǙŶ ŜƑί 

10) ōǙū E ĳő ōǙū A ĶŶ ōůĻ Ňź ōǙŶ ŜƑί 

11) ŉůœŶ őƁĸ ĶŶ ōǙŶ ĳő śŌŶ Ň őƁĸ ĶŶ ōǙŶ 

ĶŶ ōůĻ Ļūő ōǙŶ őķŶ ĸĮ ŜƑί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E   16 

G ŉůœū 11 

C   15 

A   9 

F   7 

D œūœ 4 

B śŌŶ Ň 12 

  

12) ōƑĸŉů őƁĸ ĳő ŋůœŶ őƁĸ ĶŶ ōǙŶ ĶŶ ōůĻ Ňź 

ōǙŶ őķŶ ĸĮ ŜƑί 

13) ĶūœŶ őƁĸ Ķū ōǙū ŋůœŶ őƁĸ ĶŶ ōǙŶ ĶŶ 

ŁůĶ ŉůĻŶ őķū ĸŐū Ŝŷί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E ōƑĸŉů 16 

G ŉůœū 11 

C   15 

A ŋůœū 9 

F Ķūœū 7 

D œūœ 4 

B śŌŶ Ň 12 

  

ŭőǃ Ήņūŉ ŎőŉŶ ĶŶ ōūŇ ĤƁŬŅŏ ˧ ŗΉņū 

ŬŉʹūŉŰśūő Ŝźĸů: 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E ōŷĸŉů 16 

G ŉůœū 11 

C Ŝőū 15 

A ŋůœū 9 

F Ķūœū 7 

D œūœ 4 



B śŌŶ Ň 12 

  

ĦśŬœĮ, ōƑĸŉů őƁĸ ĶŶ ōǙŶ ŏƎ 16 ĸƎŇŶ ŜźƁĸůί 

 

73.  

ŬŇŐū ƞĥ Ŝŷ, 

ōǙŶ: A, B, C, D, E, F G ĳő H 

őƁĸ: ōƑĸŉů, œūœ, ŉůœū, ŋůœū, Ŝőū, śŌŶ Ň ĳő 

Ķūœū 

ĸƎŇźƁ Ķů śƁǣū: 4, 7, 9, 11, 12, 15 ĳő 16 

1) ŘůŚƈ ŋő őķŶ ĸĮ ōǙŶ ŏƎ ĸƎŇźƁ Ķů śƁǣū śŏ 

śƁǣū Ķū ŋűńƈ ŗĸƈ Ŝŷί 

2) 12 ĸƎŇźƁ ŗūœū ōǙū 4 ĸƎŇźƁ ŗūœŶ ōǙŶ ĶŶ 

ŁůĶ ŉůĻŶ Ŝŷί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

    16 

      

      

      

      

      

      

      

      

  

ŮΉņŬŅ: 2 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

    4 

    12 

      

      

      

      

      

      

  

3) ōǙū A ĳő ōǙū C ŏƎ ĸƎŇźƁ Ķū Őźĸ 24 Ŝŷί 

4) ōǙū C ĳő ōǙū F ŏƎ ĸƎŇźƁ Ķū ĤƁŅő 8 Ŝŷί 

ōǙū E ĳő ōǙū G ŏƎ ĸƎŇźƁ Ķū ĤƁŅő 5 Ŝŷί 

5) ōǙū E ĳő ōǙū A ĶŶ ōůĻ Ňź ōǙŶ ŜƑ 

ĳő ĨŉŏƎ śŶ ŇźŉźƁ ŏƎ ĸƎŇźƁ Ķů ĶŰ œ śƁǣū ĮĶ 

ŋűńƈ ŗĸƈ Ŝŷί 

(Ķņŉ 3, 4, 5 ĳő 6 śŶ ŜŏūőŶ ŋūś ōǙŶ ŏƎ 

ĸƎŇźƁ Ķů śƁǣū C = 15, A = 9, F = 7, E = 16 

ĳő G = 11 Ŝŷί ĦśŬœĮ, ōǙū D ŏƎ 4 Őū 12 

ĸƎŇƎ ŜƑί) 

6) ōǙū F, ōǙū D ĶŶ ŁůĶ ĩŋő őķū ĸŐū 

Ŝŷί ōǙū D œūœ őƁĸ Ķū Ŝŷί 

7) śŌŶ Ň ōǙŶ Ķź œūœ őƁĸ ĶŶ ōǙŶ ĶŶ ŁůĶ 

ŉůĻŶ őķū ĸŐū Ŝŷί 

8) 12 ĸƎŇźƁ ŗūœū ōǙū 4 ĸƎŇźƁ ŗūœŶ ōǙū ĶŶ 

ŁůĶ ŉůĻŶ Ŝŷί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E   16 

  ŉůœū   

      



      

F   7 

D œūœ 4 

  śŌŶ Ň 12 

  

ŮΉņŬŅ: 2 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

F   4 

D   12 

      

      

      

      

      

      

  

ŮΉņŬŅ: 2 őɜ Ŝź ĽūŅů Ŝŷ ǎźƁŬĶ ōǙū F ŏƎ 4 

ĸƎŇ ŉŜůƁ Ŝŷί 

9) ōǙū D ĳő ōǙū G ĶŶ ōůĻ Ņůŉ ōǙŶ ŜƑί 

10) ōǙū E ĳő ōǙū A ĶŶ ōůĻ Ňź ōǙŶ ŜƑί 

11) ŉůœŶ őƁĸ ĶŶ ōǙŶ ĳő śŌŶ Ň őƁĸ ĶŶ ōǙŶ 

ĶŶ ōůĻ Ļūő ōǙŶ őķŶ ĸĮ ŜƑί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E   16 

G ŉůœū 11 

C   15 

A   9 

F   7 

D œūœ 4 

B śŌŶ Ň 12 

  

12) ōƑĸŉů őƁĸ ĳő ŋůœŶ őƁĸ ĶŶ ōǙŶ ĶŶ ōůĻ Ňź 

ōǙŶ őķŶ ĸĮ ŜƑί 

13) ĶūœŶ őƁĸ Ķū ōǙū ŋůœŶ őƁĸ ĶŶ ōǙŶ ĶŶ 

ŁůĶ ŉůĻŶ őķū ĸŐū Ŝŷί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E ōƑĸŉů 16 

G ŉůœū 11 

C   15 

A ŋůœū 9 

F Ķūœū 7 

D œūœ 4 

B śŌŶ Ň 12 

  

ŭőǃ Ήņūŉ ŎőŉŶ ĶŶ ōūŇ ĤƁŬŅŏ ˧ ŗΉņū 

ŬŉʹūŉŰśūő Ŝźĸů: 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E ōŷĸŉů 16 

G ŉůœū 11 

C Ŝőū 15 

A ŋůœū 9 

F Ķūœū 7 

D œūœ 4 

B śŌŶ Ň 12 



  

ĦśŬœĮ, C Ŝőū őƁĸ Ķū Ŝŷί 

 

74.  

ŬŇŐū ĸŐū Ŝŷ: 

ōǙŶ: A, B, C, D, E, F G ĳő Hί 

őƁĸ: ōƑĸŉů, œūœ, ŉůœū, ŋůœū, Ŝőū, śŌŶ Ň ĳő 

Ķūœūί 

ĸƎŇźƁ Ķů śƁǣū: 4, 7, 9, 11, 12, 15 ĳő 16 

1) ŘůŚƈ ŋő őķŶ ĸĮ ōǙŶ ŏƎ ĸƎŇźƁ Ķů śƁǣū śŏ 

śƁǣū Ķū ŋűńƈ ŗĸƈ Ŝŷί 

2) 12 ĸƎŇźƁ ŗūœū ōǙū 4 ĸƎŇźƁ ŗūœŶ ōǙŶ ĶŶ 

ŁůĶ ŉůĻŶ Ŝŷί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

    16 

      

      

      

      

      

      

      

      

  

ŮΉņŬŅ: 2 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

    4 

    12 

      

      

      

      

      

      

  

3) ōǙŶ A ĳő ōǙŶ C ŏƎ ĸƎŇźƁ Ķū Őźĸ 24 Ŝŷί 

4) ōǙŶ C ĳő ōǙŶ F ŏƎ ĸƎŇźƁ Ķū ĤƁŅő 8 Ŝŷί 

ōǙŶ E ĳő ōǙŶ G ŏƎ ĸƎŇźƁ Ķū ĤƁŅő 5 Ŝŷί 

5) ōǙŶ E ĳő ōǙŶ A ĶŶ ōůĻ Ňź ōǙŶ ŜƑ ĳő 

ĨŉŏƎ śŶ ŇźŉźƁ ŏƎ ĸƎŇźƁ Ķů ĶŰ œ śƁǣū ĮĶ ŋűńƈ 

ŗĸƈ Ŝŷί 

(Ķņŉ 3, 4, 5 ĳő 6 śŶ ŜŏūőŶ ŋūś ōǙŶ ŏƎ 

ĸƎŇźƁ Ķů śƁǣū C = 15, A = 9, F = 7, E = 16 

ĳő G = 11 Ŝŷί ĦśŬœĮ, ōǙŶ D ŏƎ 4 Őū 12 ĸƎŇƎ 

ŜƑί) 

6) ōǙū F, ōǙŶ D ĶŶ ŁůĶ ĩŋő őķū ĸŐū Ŝŷί 

ōǙū D œūœ őƁĸ Ķū Ŝŷί 

7) śŌŶ Ň ōǙŶ Ķź œūœ őƁĸ ĶŶ ōǙŶ ĶŶ ŁůĶ 

ŉůĻŶ őķū ĸŐū Ŝŷί 

Ķņŉ 2 Ķū ĨŋŐźĸ ĶőŉŶ ŋő) 12 ĸƎŇźƁ ŗūœū 

ōǙū 4 ĸƎŇźƁ ŗūœŶ ōǙū ĶŶ ŁůĶ ŉůĻŶ Ŝŷί 

( Ŝŏ ŬŉňūƈŭőŅ Ķő śĶŅŶ ŜƑ ŬĶ ōǙū B ĳő 

ōǙū D ĮĶ ŇűśőŶ ĶŶ ĥśʂ ŜƑ)  

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E   16 

  ŉůœū   

      



      

F   7 

D œūœ 4 

  śŌŶ Ň 12 

  

ŮΉņŬŅ: 2 (i) 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

F   4 

D   12 

      

      

      

      

      

      

  

ŮΉņŬŅ: 2 (ii) 

 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

D   4 

B   12 

      

      

      

      

      

      

  

(ŮΉņŬŅ: 2 (i) őɜ Ŝź ĽūŅů Ŝŷ ǎźƁŬĶ ōǙŶ F ŏƎ 4 

ĸƎŇ ŉŜůƁ Ŝŷί) 

(ŮΉņŬŅ: 2 (ii) őɜ Ŝź ĽūŅů Ŝŷ ǎźƁŬĶ D ŘůŚƈ ŋő 

Ŝŷ, ĦśŬœĮ F Ķź ŉŜůƁ őķū Ľū śĶŅū Ŝŷ) 

8) ōǙŶ D ĳő ōǙŶ G ĶŶ ōůĻ Ņůŉ ōǙŶ ŜƑί 

9) ŉůœŶ őƁĸ ĶŶ ōǙŶ ĳő śŌŶ Ň őƁĸ ĶŶ ōǙŶ ĶŶ 

ōůĻ Ļūő ōǙŶ őķŶ ĸĮ ŜƑί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E   16 

G ŉůœū 11 

C   15 

A   9 

F   7 

D œūœ 4 

B śŌŶ Ň 12 

  

10) ōƑĸŉů őƁĸ ĳő ŋůœŶ őƁĸ ĶŶ ōǙŶ ĶŶ ōůĻ Ňź 

ōǙŶ őķŶ ĸĮ ŜƑί 

11) ĶūœŶ őƁĸ Ķū ōǙū ŋůœŶ őƁĸ ĶŶ ōǙŶ ĶŶ 

ŁůĶ ŉůĻŶ őķū ĸŐū Ŝŷί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E ōƑĸŉů 16 

G ŉůœū 11 

C   15 

A ŋůœū 9 

F Ķūœū 7 



D œūœ 4 

B śŌŶ Ň 12 

  

ŭőǃ Ήņūŉ ŎőŉŶ ĶŶ ōūŇ ĤƁŬŅŏ ˧ ŗΉņū 

ŬŉʹūŉŰśūő Ŝźĸů: 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E ōŷĸŉů 16 

G ŉůœū 11 

C Ŝőū 15 

A ŋůœū 9 

F Ķūœū 7 

D œūœ 4 

B śŌŶ Ň 12 

  

ĦśŬœĮ, ōǙū C, ōǙŶ A ĶŶ ŁůĶ ĩŋő őķū 

ĸŐū Ŝŷί 

 

75. 

ŬŇŐū ĸŐū Ŝŷ: 

ōǙŶ: A, B, C, D, E, F G ĳő Hί 

őƁĸ: ōƑĸŉů, œūœ, ŉůœū, ŋůœū, Ŝőū, śŌŶ Ň ĳő 

Ķūœūί 

ĸƎŇźƁ Ķů śƁǣū: 4, 7, 9, 11, 12, 15 ĳő 16 

1) ŘůŚƈ ŋő őķŶ ĸĮ ōǙŶ ŏƎ ĸƎŇźƁ Ķů śƁǣū śŏ 

śƁǣū Ķū ŋűńƈ ŗĸƈ Ŝŷί 

2) 12 ĸƎŇźƁ ŗūœū ōǙū 4 ĸƎŇźƁ ŗūœŶ ōǙŶ ĶŶ 

ŁůĶ ŉůĻŶ Ŝŷί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

    16 

      

      

      

      

      

      

      

      

  

ŮΉņŬŅ: 2 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

    4 

    12 

      

      

      

      

      

      

  

3) ōǙŶ A ĳő ōǙŶ C ŏƎ ĸƎŇźƁ Ķū Őźĸ 24 Ŝŷί 

4) ōǙŶ C ĳő ōǙŶ F ŏƎ ĸƎŇźƁ Ķū ĤƁŅő 8 Ŝŷί 

ōǙŶ E ĳő ōǙŶ G ŏƎ ĸƎŇźƁ Ķū ĤƁŅő 5 Ŝŷί 

5) ōǙŶ E ĳő ōǙŶ A ĶŶ ōůĻ Ňź ōǙŶ ŜƑ ĳő 

ĨŉŏƎ śŶ ŇźŉźƁ ŏƎ ĸƎŇźƁ Ķů ĶŰ œ śƁǣū ĮĶ ŋűńƈ 

ŗĸƈ Ŝŷί 



(Ķņŉ 3, 4, 5 ĳő 6 śŶ ŜŏūőŶ ŋūś ōǙŶ ŏƎ 

ĸƎŇźƁ Ķů śƁǣū C = 15, A = 9, F = 7, E = 16 

ĳő G = 11 Ŝŷί ĦśŬœĮ, ōǙŶ D ŏƎ 4 Őū 12 ĸƎŇƎ 

ŜƑί) 

6) ōǙū F, ōǙŶ D ĶŶ ŁůĶ ĩŋő őķū ĸŐū Ŝŷί 

ōǙū D œūœ őƁĸ Ķū Ŝŷί 

7) śŌŶ Ň ōǙŶ Ķź œūœ őƁĸ ĶŶ ōǙŶ ĶŶ ŁůĶ 

ŉůĻŶ őķū ĸŐū Ŝŷί 

Ķņŉ 2 Ķū ĨŋŐźĸ ĶőŉŶ ŋő) 12 ĸƎŇźƁ ŗūœū 

ōǙū 4 ĸƎŇźƁ ŗūœŶ ōǙū ĶŶ ŁůĶ ŉůĻŶ Ŝŷί 

( Ŝŏ ŬŉňūƈŭőŅ Ķő śĶŅŶ ŜƑ ŬĶ ōǙū B ĳő 

ōǙū D ĮĶ ŇűśőŶ ĶŶ ĥśʂ ŜƑ)  

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E   16 

  ŉůœū   

      

      

F   7 

D œūœ 4 

  śŌŶ Ň 12 

  

ŮΉņŬŅ: 2 (i) 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

F   4 

D   12 

      

      

      

      

      

      

  

ŮΉņŬŅ: 2 (ii) 

 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

D   4 

B   12 

      

      

      

      

      

      

  

(ŮΉņŬŅ: 2 (i) őɜ Ŝź ĽūŅů Ŝŷ ǎźƁŬĶ ōǙŶ F ŏƎ 4 

ĸƎŇ ŉŜůƁ Ŝŷί) 

(ŮΉņŬŅ: 2 (ii) őɜ Ŝź ĽūŅů Ŝŷ ǎźƁŬĶ D ŘůŚƈ ŋő 

Ŝŷ, ĦśŬœĮ F Ķź ŉŜůƁ őķū Ľū śĶŅū Ŝŷ) 

8) ōǙŶ D ĳő ōǙŶ G ĶŶ ōůĻ Ņůŉ ōǙŶ ŜƑί 

9) ŉůœŶ őƁĸ ĶŶ ōǙŶ ĳő śŌŶ Ň őƁĸ ĶŶ ōǙŶ ĶŶ 

ōůĻ Ļūő ōǙŶ őķŶ ĸĮ ŜƑί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E   16 

G ŉůœū 11 

C   15 



A   9 

F   7 

D œūœ 4 

B śŌŶ Ň 12 

  

10) ōƑĸŉů őƁĸ ĳő ŋůœŶ őƁĸ ĶŶ ōǙŶ ĶŶ ōůĻ Ňź 

ōǙŶ őķŶ ĸĮ ŜƑί 

11) ĶūœŶ őƁĸ Ķū ōǙū ŋůœŶ őƁĸ ĶŶ ōǙŶ ĶŶ 

ŁůĶ ŉůĻŶ őķū ĸŐū Ŝŷί 

ŮΉņŬŅ: 1 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E ōƑĸŉů 16 

G ŉůœū 11 

C   15 

A ŋůœū 9 

F Ķūœū 7 

D œūœ 4 

B śŌŶ Ň 12 

  

ŭőǃ Ήņūŉ ŎőŉŶ ĶŶ ōūŇ ĤƁŬŅŏ ˧ ŗΉņū 

ŬŉʹūŉŰśūő Ŝźĸů: 

ōǙū őƁĸ ĸƎŇźƁ Ķů śƁǣū 

E ōŷĸŉů 16 

G ŉůœū 11 

C Ŝőū 15 

A ŋůœū 9 

F Ķūœū 7 

D œūœ 4 

B śŌŶ Ň 12 

  

ĦśŬœĮ, ŋůœŶ őƁĸ Ķū ōǙū ŜőŶ őƁĸ ĶŶ ōǙŶ ĶŶ 

ŁůĶ ŉůĻŶ őķū ĸŐū Ŝŷί 

 

76.  

1) ƳŶńůōɞ ĶőŉŶ ĶŶ ŋˬūŅž ŗńƖ Ķů ˧ ŗΉņū: 

ōūŐūſ ļźő M E E T B O O K E D U T I T P 

A ŇūŐūſ ļźő 

2) ŇūĮƁ ļźő śŶ ŬŉĶŀŅŏ ̠ ő 

M E E T B O O K E D U T I T P A 

3) A ĶŶ ĶŶ ōūĮƁ śŶ ōūőŜŗūƁ ŗńƈ T Ŝŷί 

M E ET B O O K E D U T I T P A 

4) T Ķū ŬŉĶŀŅŏ ̠ ő E Ŝŷί 

M E E T B O O K E D U T I T P A 

5) E ĶŶ ŇūĮƁ śŶ śūŅŗūſ ŗńƈ D Ŝŷί 

M E E T B O O K E D U T I T P A 

ĤŅƂ śŜů ĨɃő D Ŝŷί 

 

77.  

Ňů ĸŐů ƳŲƁķœū ŏƎ, Ňź ƳƁķœūĮſ Ŭŏœů ƞħ ŜƑ, 

ŬĽśŏƎ śŶ ĮĶ 6 Ķū ĸŰńĶ Ŝŷ ĳő Ňűśőů ŏƎ 8 

Ķū ĸŰńĶ Ŝŷί 

 

ĤŅƂ, œŰʏ ŋŇ “32" Ŝŷί 

 

 

78. 



Ňů ĸħ ĽūŉĶūőů śŶ, Ŝŏ ŬŉʹŬœŮķŅ ĤŉŰŏūŉ 

œĸū śĶŅŶ ŜƑ :

 

Ħś ƬĶūő, Ŝŏ ŇŶķ śĶŅŶ ŜƑ ŬĶ ĶǕū śŶ ķŶœ 

Ķū ŏŷŇūŉ ŋŬˬŏ ŬŇŘū ŏƎ Ŝŷί 

 

79.  

Ňů ĸħ ĽūŉĶūőů ĶŶ ĤŉŰśūő : 

 

Ħś ƬĶūő, ĶǕū ĳő ķŶœ ĶŶ ŏŷŇūŉ ĶŶ ōůĻ Ķů 

Ňűőů = 500 + 100 = 600 ŏů Ŝŷί 

 

80. 

ŬŉʹŬœŮķŅ ŅūŬœĶū ŬĻ̣źƁ ĳő ĨŉĶŶ ĤņƖ Ķū 

ŗńƈŉ ĶőŉŶ ĶŶ ŬœĮ ōŉūħ ĸħ Ŝŷ: 

 

ĮĶ ŗƁŘ-ŗŲǕ ŅŷŐūő ĶőŉŶ ŋő, 

 

ĻűƁŬĶ H ĳő F ĶŶ ŬœƁĸ ŬŉŬˬŅ ŉŜůƁ ŜƑ, ĦśŬœĮ 

Ŝŏ ĨŉĶŶ ōůĻ ĮĶ ŬŉŬˬŅ śƁōƁň ΉņūŬŋŅ ŉŜůƁ 

Ķő śĶŅŶ ŜƑ, œŶŬĶŉ H Őū Ņź F Ķů ŎūƁĽů Őū 

ŎūƁĽū Ŝźĸūί 

ĤŅƂ, H, F Ķū ŎūƁĽů Őū ŎūƁĽū Ŝź śĶŅū Ŝŷί 

 

81.  

ŉŻ śŇ  ̝A, B, C, D, E, F, G, H ĳő I ĳő ŗŶ 

śŎů ĨɃő ĶŶ śˁŰķ ŜƑί 

ŋŜœŶ Ŝŏ ōŷŁŉŶ Ķů ˧ ŗΉņū ĳő ŬŌő ŗƁŘ-ŗŲǕ 

ōŉūŐƎĸŶί 



1) D, Ľź A Ķū śūœū Ŝŷ, ŋƁŮǃ ĶŶ ōůĻ ŏƎ ĳő A 

ĶŶ ŇūĮſ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő ōŷŁū Ŝŷί 

2) A Ĥŋŉů ŋɇů C ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁū Ŝŷί 

3) H, ŬĽśĶŶ Ňź ŋŰƧ ĳő 1 ŋŰƧů Ŝŷ, C ĶŶ ŇūĮſ 

Ĳő śŶ ŅůśőŶ Ήņūŉ ŋő ōŷŁů Ŝŷί 

4) E ĤŋŉŶ ŏūŏū D ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

5) B Ĥŋŉů ŋɇů H ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

 

6) ŇźŉźƁ ļźőźƁ ŋő ōŷŁŶ ˧ Ůǃ B Ķů śƁŅūŉ ŜƑί 

7) ŋŰŬƧŐūſ G ĳő I ĤŋŉŶ śƁōƁŬňŅ ŬŋŅūĲƁ ĶŶ 

śūņ ōŷŁů ŜƑί 

8) I, Ľź H Ķů ŋźŅů Ŝŷ ŗŜ ŬĶśů ļźő ŋő ŉŜůƁ 

ōŷŁů Ŝŷί 

Ľŷśū ŬĶ 8) ŏƎ ĨŮ˝ŮķŅ Ŝŷ, I ŬĶśů ļźő ŋő 

ŉŜůƁ ōŷŁů Ŝŷί I, A ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁů Ŝźĸůί 

Ņō G, B Ķů ŋŰƧů Ŝźĸů ĳő 7) ĶŶ ĤŉŰśūő 

ĤŋŉŶ ŬŋŅū B ĶŶ śūņ ōŷŁŶĸůί Ņō F ōūĮƁ ļźő 

ŋő ōŷŁŶĸūί 

ĦśŬœĮ, ĤƁŬŅŏ ˧ ŗΉņū Ŭŉʹ ƬĶūő Ŝŷί 

 

Ĥō Ŝŏ ŗƁŘ-ŗŲǕ ōŉūŐƎĸŶί 

Ňů ĸŐů ĽūŉĶūőů śŶ, 

 

1) H ĶŶ Ňź ŋŰƧ ĳő 1 ŋŰƧů ŜƑί 

2) B Ĥŋŉů ŋɇů H ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

3) ŇźŉźƁ ļźőźƁ ŋő ōŷŁŶ ˧ Ůǃ B Ķů śƁŅūŉ ŜƑί 

ĦśŬœĮ, H, B Ķů ŋɇů Ŝŷ ĳő ˧ ŗΉņū śŶ; F 

ĳő G Ľź ŋƁŮǃ ĶŶ ļźő ŋő ōŷŁŶ ŜƑ, H ĳő B 

Ķů Ņůŉ śƁŅūŉźƁ ŏƎ śŶ Ňź ŜƑί 

4) A Ĥŋŉů ŋɇů C ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁū Ŝŷί 

5) I, Ľź H Ķů ŋźŅů Ŝŷί 

6) ŋŰŬƧŐūſ G ĳő I ĤŋŉŶ śƁōƁŬňŅ ŬŋŅūĲƁ ĶŶ 

śūņ ōŷŁů ŜƑί 

ĦśŬœĮ, A, C Ķū ŋŬŅ Ŝŷ ĳő ˧ ŗΉņū śŶ; I, A 

Ķů ŋŰƧů Ŝŷί ĦśŬœĮ, H ĳő B Ķů śƁŅūŉ A, F 

ĳő B ŜƑ ŬĽśŏƎ A ĳő F ŋŰƧ ŜƑ ĳő G ŋŰƧů Ŝŷί 

7) D, Ľź A Ķū śūœū Ŝŷ ŗŜ ŋƁŮǃ ĶŶ ōůĻ ŏƎ 

ĳő A ĶŶ ŇūĮſ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő ōŷŁū Ŝŷί 

8) E ĤŋŉŶ ŏūŏū D ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

ĦśŬœĮ, C, A Ķů ŋɇů Ŝŷ Ņņū D Ķů ōŜŉ Ŝŷ 

ĳő A ĳő C Ķū ŋŰƧ E Ŝŷί 

ĦśŬœĮ, Ŝŏ Ŭŉʹ ƬĶūő śŶ ŗƁŘ-ŗŲǕ ōŉū śĶŅŶ 

ŜƑί 



 

ĦśŬœĮ, H, G ĶŶ ōūĮƁ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő 

ōŷŁū Ŝŷί 

 

82.  

ŉŻ śŇ  ̝A, B, C, D, E, F, G, H ĳő I ĳő ŗŶ 

śŎů ĨɃő ĶŶ śˁŰķ ŜƑί 

ŋŜœŶ Ŝŏ ōŷŁŉŶ Ķů ˧ ŗΉņū ĳő ŬŌő ŗƁŘ-ŗŲǕ 

ōŉūŐƎĸŶί 

1) D, Ľź A Ķū śūœū Ŝŷ, ŋƁŮǃ ĶŶ ōůĻ ŏƎ ĳő A 

ĶŶ ŇūĮſ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő ōŷŁū Ŝŷί 

2) A Ĥŋŉů ŋɇů C ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁū Ŝŷί 

3) H, ŬĽśĶŶ Ňź ŋŰƧ ĳő 1 ŋŰƧů Ŝŷ, C ĶŶ ŇūĮſ 

Ĳő śŶ ŅůśőŶ Ήņūŉ ŋő ōŷŁů Ŝŷί 

4) E ĤŋŉŶ ŏūŏū D ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

5) B Ĥŋŉů ŋɇů H ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

 

6) ŇźŉźƁ ļźőźƁ ŋő ōŷŁŶ ˧ Ůǃ B Ķů śƁŅūŉ ŜƑί 

7) ŋŰŬƧŐūſ G ĳő I ĤŋŉŶ śƁōƁŬňŅ ŬŋŅūĲƁ ĶŶ 

śūņ ōŷŁů ŜƑί 

8) I, Ľź H Ķů ŋźŅů Ŝŷ ŗŜ ŬĶśů ļźő ŋő ŉŜůƁ 

ōŷŁů Ŝŷί 

Ľŷśū ŬĶ 8) ŏƎ ĨŮ˝ŮķŅ Ŝŷ, I ŬĶśů ļźő ŋő 

ŉŜůƁ ōŷŁů Ŝŷί I, A ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁů Ŝźĸůί 

Ņō G, B Ķů ŋŰƧů Ŝźĸů ĳő 7) ĶŶ ĤŉŰśūő 

ĤŋŉŶ ŬŋŅū B ĶŶ śūņ ōŷŁŶĸůί Ņō F ōūĮƁ ļźő 

ŋő ōŷŁŶĸūί 

ĦśŬœĮ, ĤƁŬŅŏ ˧ ŗΉņū Ŭŉʹ ƬĶūő Ŝŷί 

 

Ĥō Ŝŏ ŗƁŘ-ŗŲǕ ōŉūŐƎĸŶί 

Ňů ĸŐů ĽūŉĶūőů śŶ, 

 

1) H ĶŶ Ňź ŋŰƧ ĳő 1 ŋŰƧů ŜƑί 

2) B Ĥŋŉů ŋɇů H ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

3) ŇźŉźƁ ļźőźƁ ŋő ōŷŁŶ ˧ Ůǃ B Ķů śƁŅūŉ ŜƑί 

ĦśŬœĮ, H, B Ķů ŋɇů Ŝŷ ĳő ˧ ŗΉņū śŶ; F 

ĳő G Ľź ŋƁŮǃ ĶŶ ļźő ŋő ōŷŁŶ ŜƑ, H ĳő B 

Ķů Ņůŉ śƁŅūŉźƁ ŏƎ śŶ Ňź ŜƑί 

4) A Ĥŋŉů ŋɇů C ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁū Ŝŷί 

5) I, Ľź H Ķů ŋźŅů Ŝŷί 

6) ŋŰŬƧŐūſ G ĳő I ĤŋŉŶ śƁōƁŬňŅ ŬŋŅūĲƁ ĶŶ 

śūņ ōŷŁů ŜƑί 

ĦśŬœĮ, A, C Ķū ŋŬŅ Ŝŷ ĳő ˧ ŗΉņū śŶ; I, A 

Ķů ŋŰƧů Ŝŷί ĦśŬœĮ, H ĳő B Ķů śƁŅūŉ A, F 

ĳő B ŜƑ ŬĽśŏƎ A ĳő F ŋŰƧ ŜƑ ĳő G ŋŰƧů Ŝŷί 

7) D, Ľź A Ķū śūœū Ŝŷ ŗŜ ŋƁŮǃ ĶŶ ōůĻ ŏƎ 

ĳő A ĶŶ ŇūĮſ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő ōŷŁū Ŝŷί 



8) E ĤŋŉŶ ŏūŏū D ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

ĦśŬœĮ, C, A Ķů ŋɇů Ŝŷ Ņņū D Ķů ōŜŉ Ŝŷ 

ĳő A ĳő C Ķū ŋŰƧ E Ŝŷί 

ĦśŬœĮ, Ŝŏ Ŭŉʹ ƬĶūő śŶ ŗƁŘ-ŗŲǕ ōŉū śĶŅŶ 

ŜƑί 

 

ŗƁŘ-ŗŲǕ śŶ, E, F Ķū ŎūƁĽū/ŎŅůĽū Ŝŷί 

 

83.  

ŉŻ śŇ  ̝A, B, C, D, E, F, G, H ĳő I ĳő ŗŶ 

śŎů ĨɃő ĶŶ śˁŰķ ŜƑί 

ŋŜœŶ Ŝŏ ōŷŁŉŶ Ķů ˧ ŗΉņū ĳő ŬŌő ŗƁŘ-ŗŲǕ 

ōŉūŐƎĸŶί 

1) D, Ľź A Ķū śūœū Ŝŷ, ŋƁŮǃ ĶŶ ōůĻ ŏƎ ĳő A 

ĶŶ ŇūĮſ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő ōŷŁū Ŝŷί 

2) A Ĥŋŉů ŋɇů C ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁū Ŝŷί 

3) H, ŬĽśĶŶ Ňź ŋŰƧ ĳő 1 ŋŰƧů Ŝŷ, C ĶŶ ŇūĮſ 

Ĳő śŶ ŅůśőŶ Ήņūŉ ŋő ōŷŁů Ŝŷί 

4) E ĤŋŉŶ ŏūŏū D ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

5) B Ĥŋŉů ŋɇů H ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

 

6) ŇźŉźƁ ļźőźƁ ŋő ōŷŁŶ ˧ Ůǃ B Ķů śƁŅūŉ ŜƑί 

7) ŋŰŬƧŐūſ G ĳő I ĤŋŉŶ śƁōƁŬňŅ ŬŋŅūĲƁ ĶŶ 

śūņ ōŷŁů ŜƑί 

8) I, Ľź H Ķů ŋźŅů Ŝŷ ŗŜ ŬĶśů ļźő ŋő ŉŜůƁ 

ōŷŁů Ŝŷί 

Ľŷśū ŬĶ 8) ŏƎ ĨŮ˝ŮķŅ Ŝŷ, I ŬĶśů ļźő ŋő 

ŉŜůƁ ōŷŁů Ŝŷί I, A ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁů Ŝźĸůί 

Ņō G, B Ķů ŋŰƧů Ŝźĸů ĳő 7) ĶŶ ĤŉŰśūő 

ĤŋŉŶ ŬŋŅū B ĶŶ śūņ ōŷŁŶĸůί Ņō F ōūĮƁ ļźő 

ŋő ōŷŁŶĸūί 

ĦśŬœĮ, ĤƁŬŅŏ ˧ ŗΉņū Ŭŉʹ ƬĶūő Ŝŷί 

 

Ĥō Ŝŏ ŗƁŘ-ŗŲǕ ōŉūŐƎĸŶί 

Ňů ĸŐů ĽūŉĶūőů śŶ, 

 

1) H ĶŶ Ňź ŋŰƧ ĳő 1 ŋŰƧů ŜƑί 

2) B Ĥŋŉů ŋɇů H ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

3) ŇźŉźƁ ļźőźƁ ŋő ōŷŁŶ ˧ Ůǃ B Ķů śƁŅūŉ ŜƑί 

ĦśŬœĮ, H, B Ķů ŋɇů Ŝŷ ĳő ˧ ŗΉņū śŶ; F 

ĳő G Ľź ŋƁŮǃ ĶŶ ļźő ŋő ōŷŁŶ ŜƑ, H ĳő B 

Ķů Ņůŉ śƁŅūŉźƁ ŏƎ śŶ Ňź ŜƑί 

4) A Ĥŋŉů ŋɇů C ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁū Ŝŷί 

5) I, Ľź H Ķů ŋźŅů Ŝŷί 



6) ŋŰŬƧŐūſ G ĳő I ĤŋŉŶ śƁōƁŬňŅ ŬŋŅūĲƁ ĶŶ 

śūņ ōŷŁů ŜƑί 

ĦśŬœĮ, A, C Ķū ŋŬŅ Ŝŷ ĳő ˧ ŗΉņū śŶ; I, A 

Ķů ŋŰƧů Ŝŷί ĦśŬœĮ, H ĳő B Ķů śƁŅūŉ A, F 

ĳő B ŜƑ ŬĽśŏƎ A ĳő F ŋŰƧ ŜƑ ĳő G ŋŰƧů Ŝŷί 

7) D, Ľź A Ķū śūœū Ŝŷ ŗŜ ŋƁŮǃ ĶŶ ōůĻ ŏƎ 

ĳő A ĶŶ ŇūĮſ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő ōŷŁū Ŝŷί 

8) E ĤŋŉŶ ŏūŏū D ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

ĦśŬœĮ, C, A Ķů ŋɇů Ŝŷ Ņņū D Ķů ōŜŉ Ŝŷ 

ĳő A ĳő C Ķū ŋŰƧ E Ŝŷί 

ĦśŬœĮ, Ŝŏ Ŭŉʹ ƬĶūő śŶ ŗƁŘ-ŗŲǕ ōŉū śĶŅŶ 

ŜƑί 

 

ŗƁŘ-ŗŲǕ śŶ, I Ķů ŏūƁ C Ŝŷ ĳő őŷŮķĶ ˧ ŗΉņū 

śŶ, H, C ĶŶ ŇūĮſ Ĳő śŶ ŅůśőŶ Ήņūŉ ŋő ōŷŁů Ŝŷί 

 

84. 

ŉŻ śŇ  ̝A, B, C, D, E, F, G, H ĳő I ĳő ŗŶ 

śŎů ĨɃő ĶŶ śˁŰķ ŜƑί 

ŋŜœŶ Ŝŏ ōŷŁŉŶ Ķů ˧ ŗΉņū ĳő ŬŌő ŗƁŘ-ŗŲǕ 

ōŉūŐƎĸŶί 

1) D, Ľź A Ķū śūœū Ŝŷ, ŋƁŮǃ ĶŶ ōůĻ ŏƎ ĳő A 

ĶŶ ŇūĮſ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő ōŷŁū Ŝŷί 

2) A Ĥŋŉů ŋɇů C ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁū Ŝŷί 

3) H, ŬĽśĶŶ Ňź ŋŰƧ ĳő 1 ŋŰƧů Ŝŷ, C ĶŶ ŇūĮſ 

Ĳő śŶ ŅůśőŶ Ήņūŉ ŋő ōŷŁů Ŝŷί 

4) E ĤŋŉŶ ŏūŏū D ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

5) B Ĥŋŉů ŋɇů H ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

 

6) ŇźŉźƁ ļźőźƁ ŋő ōŷŁŶ ˧ Ůǃ B Ķů śƁŅūŉ ŜƑί 

7) ŋŰŬƧŐūſ G ĳő I ĤŋŉŶ śƁōƁŬňŅ ŬŋŅūĲƁ ĶŶ 

śūņ ōŷŁů ŜƑί 

8) I, Ľź H Ķů ŋźŅů Ŝŷ ŗŜ ŬĶśů ļźő ŋő ŉŜůƁ 

ōŷŁů Ŝŷί 

Ľŷśū ŬĶ 8) ŏƎ ĨŮ˝ŮķŅ Ŝŷ, I ŬĶśů ļźő ŋő 

ŉŜůƁ ōŷŁů Ŝŷί I, A ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁů Ŝźĸůί 

Ņō G, B Ķů ŋŰƧů Ŝźĸů ĳő 7) ĶŶ ĤŉŰśūő 

ĤŋŉŶ ŬŋŅū B ĶŶ śūņ ōŷŁŶĸůί Ņō F ōūĮƁ ļźő 

ŋő ōŷŁŶĸūί 

ĦśŬœĮ, ĤƁŬŅŏ ˧ ŗΉņū Ŭŉʹ ƬĶūő Ŝŷί 

 

Ĥō Ŝŏ ŗƁŘ-ŗŲǕ ōŉūŐƎĸŶί 

Ňů ĸŐů ĽūŉĶūőů śŶ, 

 

1) H ĶŶ Ňź ŋŰƧ ĳő 1 ŋŰƧů ŜƑί 

2) B Ĥŋŉů ŋɇů H ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

3) ŇźŉźƁ ļźőźƁ ŋő ōŷŁŶ ˧ Ůǃ B Ķů śƁŅūŉ ŜƑί 



ĦśŬœĮ, H, B Ķů ŋɇů Ŝŷ ĳő ˧ ŗΉņū śŶ; F 

ĳő G Ľź ŋƁŮǃ ĶŶ ļźő ŋő ōŷŁŶ ŜƑ, H ĳő B 

Ķů Ņůŉ śƁŅūŉźƁ ŏƎ śŶ Ňź ŜƑί 

4) A Ĥŋŉů ŋɇů C ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁū Ŝŷί 

5) I, Ľź H Ķů ŋźŅů Ŝŷί 

6) ŋŰŬƧŐūſ G ĳő I ĤŋŉŶ śƁōƁŬňŅ ŬŋŅūĲƁ ĶŶ 

śūņ ōŷŁů ŜƑί 

ĦśŬœĮ, A, C Ķū ŋŬŅ Ŝŷ ĳő ˧ ŗΉņū śŶ; I, A 

Ķů ŋŰƧů Ŝŷί ĦśŬœĮ, H ĳő B Ķů śƁŅūŉ A, F 

ĳő B ŜƑ ŬĽśŏƎ A ĳő F ŋŰƧ ŜƑ ĳő G ŋŰƧů Ŝŷί 

7) D, Ľź A Ķū śūœū Ŝŷ ŗŜ ŋƁŮǃ ĶŶ ōůĻ ŏƎ 

ĳő A ĶŶ ŇūĮſ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő ōŷŁū Ŝŷί 

8) E ĤŋŉŶ ŏūŏū D ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

ĦśŬœĮ, C, A Ķů ŋɇů Ŝŷ Ņņū D Ķů ōŜŉ Ŝŷ 

ĳő A ĳő C Ķū ŋŰƧ E Ŝŷί 

ĦśŬœĮ, Ŝŏ Ŭŉʹ ƬĶūő śŶ ŗƁŘ-ŗŲǕ ōŉū śĶŅŶ 

ŜƑί 

 

ŗƁŘ-ŗŲǕ śŶ, A Ķū Ŏūħ F Ŝŷ ĳő E Ķů ŏūƁ C Ŝŷί 

őŷŮķĶ ˧ ŗΉņū śŶ, F, C ĶŶ ōūĮƁ Ĳő śŶ ŅůśőŶ 

Ήņūŉ ŋő Ŝŷί 

 

85. 

ŉŻ śŇ  ̝A, B, C, D, E, F, G, H ĳő I ĳő ŗŶ 

śŎů ĨɃő ĶŶ śˁŰķ ŜƑί 

ŋŜœŶ Ŝŏ ōŷŁŉŶ Ķů ˧ ŗΉņū ĳő ŬŌő ŗƁŘ-ŗŲǕ 

ōŉūŐƎĸŶί 

1) D, Ľź A Ķū śūœū Ŝŷ, ŋƁŮǃ ĶŶ ōůĻ ŏƎ ĳő A 

ĶŶ ŇūĮſ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő ōŷŁū Ŝŷί 

2) A Ĥŋŉů ŋɇů C ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁū Ŝŷί 

3) H, ŬĽśĶŶ Ňź ŋŰƧ ĳő 1 ŋŰƧů Ŝŷ, C ĶŶ ŇūĮſ 

Ĳő śŶ ŅůśőŶ Ήņūŉ ŋő ōŷŁů Ŝŷί 

4) E ĤŋŉŶ ŏūŏū D ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

5) B Ĥŋŉů ŋɇů H ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

 

6) ŇźŉźƁ ļźőźƁ ŋő ōŷŁŶ ˧ Ůǃ B Ķů śƁŅūŉ ŜƑί 

7) ŋŰŬƧŐūſ G ĳő I ĤŋŉŶ śƁōƁŬňŅ ŬŋŅūĲƁ ĶŶ 

śūņ ōŷŁů ŜƑί 

8) I, Ľź H Ķů ŋźŅů Ŝŷ ŗŜ ŬĶśů ļźő ŋő ŉŜůƁ 

ōŷŁů Ŝŷί 

Ľŷśū ŬĶ 8) ŏƎ ĨŮ˝ŮķŅ Ŝŷ, I ŬĶśů ļźő ŋő 

ŉŜůƁ ōŷŁů Ŝŷί I, A ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁů Ŝźĸůί 

Ņō G, B Ķů ŋŰƧů Ŝźĸů ĳő 7) ĶŶ ĤŉŰśūő 

ĤŋŉŶ ŬŋŅū B ĶŶ śūņ ōŷŁŶĸůί Ņō F ōūĮƁ ļźő 

ŋő ōŷŁŶĸūί 

ĦśŬœĮ, ĤƁŬŅŏ ˧ ŗΉņū Ŭŉʹ ƬĶūő Ŝŷί 

 

Ĥō Ŝŏ ŗƁŘ-ŗŲǕ ōŉūŐƎĸŶί 

Ňů ĸŐů ĽūŉĶūőů śŶ, 



 

1) H ĶŶ Ňź ŋŰƧ ĳő 1 ŋŰƧů ŜƑί 

2) B Ĥŋŉů ŋɇů H ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

3) ŇźŉźƁ ļźőźƁ ŋő ōŷŁŶ ˧ Ůǃ B Ķů śƁŅūŉ ŜƑί 

ĦśŬœĮ, H, B Ķů ŋɇů Ŝŷ ĳő ˧ ŗΉņū śŶ; F 

ĳő G Ľź ŋƁŮǃ ĶŶ ļźő ŋő ōŷŁŶ ŜƑ, H ĳő B 

Ķů Ņůŉ śƁŅūŉźƁ ŏƎ śŶ Ňź ŜƑί 

4) A Ĥŋŉů ŋɇů C ĶŶ ŬŉĶŀŅŏ ōūĮƁ ōŷŁū Ŝŷί 

5) I, Ľź H Ķů ŋźŅů Ŝŷί 

6) ŋŰŬƧŐūſ G ĳő I ĤŋŉŶ śƁōƁŬňŅ ŬŋŅūĲƁ ĶŶ 

śūņ ōŷŁů ŜƑί 

ĦśŬœĮ, A, C Ķū ŋŬŅ Ŝŷ ĳő ˧ ŗΉņū śŶ; I, A 

Ķů ŋŰƧů Ŝŷί ĦśŬœĮ, H ĳő B Ķů śƁŅūŉ A, F 

ĳő B ŜƑ ŬĽśŏƎ A ĳő F ŋŰƧ ŜƑ ĳő G ŋŰƧů Ŝŷί 

7) D, Ľź A Ķū śūœū Ŝŷ ŗŜ ŋƁŮǃ ĶŶ ōůĻ ŏƎ 

ĳő A ĶŶ ŇūĮſ Ĳő śŶ ŇűśőŶ Ήņūŉ ŋő ōŷŁū Ŝŷί 

8) E ĤŋŉŶ ŏūŏū D ĶŶ ŬŉĶŀŅŏ ŇūĮſ ōŷŁū Ŝŷί 

ĦśŬœĮ, C, A Ķů ŋɇů Ŝŷ Ņņū D Ķů ōŜŉ Ŝŷ 

ĳő A ĳő C Ķū ŋŰƧ E Ŝŷί 

ĦśŬœĮ, Ŝŏ Ŭŉʹ ƬĶūő śŶ ŗƁŘ-ŗŲǕ ōŉū śĶŅŶ 

ŜƑί 

 

ŗƁŘ-ŗŲǕ śŶ, D Ķů ōŜŉ C Ŝŷ ĳő H Ķů ōƟ C 

Ŝŷί 

Ľō D ĶŶ Ήņūŉ ŋő C ĥĮĸů, Ņō C ĶŶ ŇūĮſ Ĳő 

śŶ ŇűśőŶ Ήņūŉ ŋő H Ŝźĸūί 

 

86.  

śŇ :̝ A, B, C, D, E 

1) ĨŉĶŶ ŗĽŉ ĶŶ ĥőźŜů Ơŏ ŏƎ, A ŇűśőŶ ĳő 

C ŅůśőŶ Ήņūŉ ŋő Ŝŷί 

2) Ľō ĨʌƎ ĨŉĶŶ œʼūħ ĶŶ ĤŉŰśūő ĥőźŜů 

Ơŏ ŏƎ ˧ ŗŮΉņŅ ŬĶŐū ĽūŅū Ŝŷ, Ņź B, C Ķū 

Ήņūŉ œŶ œŶŅū Ŝŷ ĳő C, E Ķū Ήņūŉ œŶ œŶŅū Ŝŷί 

ļūƧ 
ŗĽŉ ĶŶ ĤŉŰśūő 

őƑĶ 

œʼūħ ĶŶ 

ĤŉŰśūő őƑĶ 

A 2   

B   3 

C 3 x 

D     

E x   

  

3) E, A śŶ Ŏūőů Ŝŷί 

4) A śŎů ŏƎ śōśŶ ļźŀū Ŝŷί 

ļūƧ 
ŗĽŉ ĶŶ ĤŉŰśūő 

őƑĶ 

œʼūħ ĶŶ 

ĤŉŰśūő őƑĶ 

A 2 5 

B   3 



C 3 1 

D     

E 1   

  

5) D Ķů ŮΉņŬŅ ŇźŉźƁ Ŝů ˧ ŗΉņūĲƁ ŏƎ śŏūŉ 

Ŝŷί 

ĦśŬœĮ, D Ķů ĶŶ ŗœ śƁŎŗ őƑĶ 4 Ŝŷί 

ļūƧ 
ŗĽŉ ĶŶ ĤŉŰśūő 

őƑĶ 

œʼūħ ĶŶ 

ĤŉŰśūő őƑĶ 

A 2 5 

B 5 3 

C 3 1 

D 4 4 

E 1 2 

 

̗  ˺ƛŋ śŶ, B śŎů ŏƎ śŶ śōśŶ Ŝˉū Ŝŷί 

 

87.  

śŇ :̝ A, B, C, D, E 

1) ĨŉĶŶ ŗĽŉ ĶŶ ĥőźŜů Ơŏ ŏƎ, A ŇűśőŶ ĳő 

C ŅůśőŶ Ήņūŉ ŋő Ŝŷί 

2) Ľō ĨʌƎ ĨŉĶŶ œʼūħ ĶŶ ĤŉŰśūő ĥőźŜů 

Ơŏ ŏƎ ˧ ŗŮΉņŅ ŬĶŐū ĽūŅū Ŝŷ, Ņź B, C Ķū 

Ήņūŉ œŶ œŶŅū Ŝŷ ĳő C, E Ķū Ήņūŉ œŶ œŶŅū Ŝŷί 

ļūƧ 
ŗĽŉ ĶŶ ĤŉŰśūő 

őƑĶ 

œʼūħ ĶŶ 

ĤŉŰśūő őƑĶ 

A 2   

B   3 

C 3 x 

D     

E x   

  

3) E, A śŶ Ŏūőů Ŝŷί 

4) A śŎů ŏƎ śōśŶ ļźŀū Ŝŷί 

ļūƧ 
ŗĽŉ ĶŶ ĤŉŰśūő 

őƑĶ 

œʼūħ ĶŶ 

ĤŉŰśūő őƑĶ 

A 2 5 

B   3 

C 3 1 

D     

E 1   

  

5) D Ķů ŮΉņŬŅ ŇźŉźƁ Ŝů ˧ ŗΉņūĲƁ ŏƎ śŏūŉ 

Ŝŷί 

ĦśŬœĮ, D Ķů ĶŶ ŗœ śƁŎŗ őƑĶ 4 Ŝŷί 

ļūƧ 
ŗĽŉ ĶŶ ĤŉŰśūő 

őƑĶ 

œʼūħ ĶŶ 

ĤŉŰśūő őƑĶ 

A 2 5 

B 5 3 

C 3 1 

D 4 4 

E 1 2 

  

̗  ˺ƛŋ śŶ, C śŎů ŏƎ śŶ śōśŶ œʼū Ŝŷί 

 

88.  

Ķņŉ: 

B ≥ L > W = Q; W > S; T < L 

śƁŐźĽŉ ĶőŉŶ ŋő: B ≥ L > W = Q > S; B ≥ L > 
T; T < L > W = Q > S 

Ŭŉ˸Śƈ: 

I. T < Q → Ĥśɏ (ǎźƁŬĶ T < L > Q → T ĳő 

Q ĶŶ ōůĻ ̗  ˺śƁōƁň ŋŭőŎūŬŚŅ ŉŜůƁ ŬĶŐū Ľū 

śĶŅū Ŝŷ) 



II. B = S → Ĥśɏ (ǎźƁŬĶ B ≥ L > W > S → B 
> S) 

̗˺ŅƂ, ŉ Ņź Ŭŉ˸Śƈ I ŉ Ŝů II ĤŉŰśőń ĶőŅū 

Ŝŷί 

 

89.  

ŬŇĮ ĸŐŶ Ķņŉ ŜƑ: P > Q ≥ R; L ≥ M > N; Q = 
N < S 

śƁŐźĽŉ ĶőŉŶ ŋő: L ≥ M > N = Q ≥ R; S > N; 
P > N 

I. A > R → śɏ (A > T ≥ R; ĤŅƂ A > R) 

II. L = R → Ĥśɏ (L ≥ M > N = T ≥ R, ŇŘūƈŅū 

Ŝŷ ŬĶ L > R) 

III. S < M → Ĥśɏ (M > N; S > N, S ĳő M 

ĶŶ ōůĻ śƁōƁň ŬŉňūƈŭőŅ ŉŜůƁ ŬĶŐū Ľū śĶŅū) 

ĶŶ ŗœ Ŭŉ˸Śƈ I śɏ Ŝŷί 

 

90.  

ŬŇĮ ĸĮ Ķņŉ: U = E > N, Y ≤ Z < C, U > Y = S 

śƁŐźŬĽŅ ĶőŉŶ ŋő: N < E = U > Y = S ≤ Z < C 

Ŭŉ˸Śƈ: 

I. Y > N → Ĥśɏ (ĻűſŬĶ N < E = U > Y → Y 

ĳő N ĶŶ ōůĻ ̗  ˺śƁōƁň ŬŉňūƈŭőŅ ŉŜůƁ ŬĶŐū 

Ľū śĶŅū Ŝŷ) 

II. E > S → śɏ (ĻűſŬĶ E = U > Y = S → E ĳő 

S ĶŶ ōůĻ ̗  ˺śƁōƁň ŬŉňūƈŭőŅ ŉŜůƁ ŬĶŐū Ľū 

śĶŅū Ŝŷ) 

ĦśŬœĮ, ĶŶ ŗœ Ŭŉ˸Śƈ II śɏ Ŝŷί 

 

91.  

ŬŇĮ ĸĮ ĶņŉźƁ ĶŶ ŬœĮ ʈűŉŅŏ śƁŎūŬŗŅ ŗŶŉ 

ĥőŶķ Ħś ƬĶūő Ŝŷ,  

 

Ŭŉ˸Śƈ: 

I. Ķźħ ŋśƈ ŜƑłœ ŉŜůƁ ŜƑ → Ĥśɏ (ŐŜ śƁŎŗ 

Ŝŷ œŶŬĶŉ ŬŉŬˬŅ ŉŜůƁ Ŝŷ) 

II. ĶŰ ļ ŋśƈ ŜƑłœ ŜƑ → Ĥśɏ (ŐŜ śƁŎŗ Ŝŷ 

œŶŬĶŉ ŬŉŬˬŅ ŉŜůƁ Ŝŷ) 

Ŭŉ˸Śƈ I ĳő II ĮĶ-ŇűśőŶ ĶŶ ŋűőĶ ŜƑί 

ĤŅƂ, Őū Ņź I Őū II ĤŉŰśőń ĶőŅū Ŝŷί 

 

 

92.  

ŬŇĮ ĸĮ ĶņŉźƁ ĶŶ ŬœĮ ʈűŉŅŏ śƁŎūŬŗŅ ŗŶŉ 

ĥőŶķ Ħś ƬĶūő Ŝŷ, 

 

I. ĶŰ ļ ŋŻňŶ ōƎĻ ŜƑί→ ĤŉŰśőń ŉŜůƁ ĶőŅū Ŝŷί 

II. ĶŰ ļ ŋŻňŶ ŋŶš ŜƑί → ĤŉŰśőń ĶőŅū Ŝŷί 

III. ĶŰ ļ œĶšů ōƎĻ ŜƑί → ĤŉŰśőń ŉŜůƁ 

ĶőŅū Ŝŷί 

ĤŅƂ, ĶŶ ŗœ Ŭŉ˸Śƈ II ĤŉŰśőń ĶőŅū Ŝŷί 

 

93.  

C Ľź 37 ŗŚƌŐ Ŝŷ, D (40 ŗŚƌŐ) ĶŶ ōūĮƁ śŶ 

Ņůśőū Ήņūŉ ŋő ōŷŁū Ŝŷ ĳő ŇźŉźƁ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 



 

2) Ľź 45 ŗŚƌŐ Ŝŷ, ŗŜ ŉ Ņź D Ķū ŬŉĶŀŅŏ 

ŋšźśů Ŝŷ ĳő ŉ Ŝů C Ķūί 

 

3) Ľź 33 ŗŚƌŐ Ŝŷ ŗŜ D ĳő F (36 ŗŚƌŐ) ĶŶ 

Ŭō Ű̄ œ ŏɭ ŏƎ ōŷŁū Ŝŷ ĳő ŗŜ ŇźŉźƁ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

4) 34 ŗŚƌŐ G, A (33 ŗŚƌŐ) ĶŶ ōūĮƁ śŶ Ņůśőū 

Ήņūŉ ŋő ōŷŁū Ŝŷ ĳő G ĶƎ Ʃ ĶŶ ŬŗŋőůŅ ŏŰķ 

ŬĶĮ ƞĮ Ŝŷί 

 

5) B (42 ŗŚƌŐ) ĶŶ ŋšźŬśŐźƁ ŏƎ śŶ ĮĶ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

ĦśŬœĮ, 42 ŗŚƌŐ œšĶŶ ĶŶ ŬŉĶŀŅŏ 45 ŗŚƌŐ 

ĳő 40 ŗŚƌŐ ŜƑί 

 

94.  

C Ľź 37 ŗŚƌŐ Ŝŷ, D (40 ŗŚƌŐ) ĶŶ ōūĮƁ śŶ 

Ņůśőū Ήņūŉ ŋő ōŷŁū Ŝŷ ĳő ŇźŉźƁ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 



2) Ľź 45 ŗŚƌŐ Ŝŷ, ŗŜ ŉ Ņź D Ķū ŬŉĶŀŅŏ 

ŋšźśů Ŝŷ ĳő ŉ Ŝů C Ķūί 

 

3) Ľź 33 ŗŚƌŐ Ŝŷ ŗŜ D ĳő F (36 ŗŚƌŐ) ĶŶ 

Ŭō Ű̄ œ ŏɭ ŏƎ ōŷŁū Ŝŷ ĳő ŗŜ ŇźŉźƁ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

4) 34 ŗŚƌŐ G, A (33 ŗŚƌŐ) ĶŶ ōūĮƁ śŶ Ņůśőū 

Ήņūŉ ŋő ōŷŁū Ŝŷ ĳő G ĶƎ Ʃ ĶŶ ŬŗŋőůŅ ŏŰķ 

ŬĶĮ ƞĮ Ŝŷί 

 

5) B (42 ŗŚƌŐ) ĶŶ ŋšźŬśŐźƁ ŏƎ śŶ ĮĶ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

ĦśŬœĮ, C, A ĶŶ ōūħƁ Ĳő śŶ Ňűśőū Ŝŷ Ľź 33 

ŗŚƌŐ Ŝŷί 

 

95. 

C Ľź 37 ŗŚƌŐ Ŝŷ, D (40 ŗŚƌŐ) ĶŶ ōūĮƁ śŶ 

Ņůśőū Ήņūŉ ŋő ōŷŁū Ŝŷ ĳő ŇźŉźƁ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

2) Ľź 45 ŗŚƌŐ Ŝŷ, ŗŜ ŉ Ņź D Ķū ŬŉĶŀŅŏ 

ŋšźśů Ŝŷ ĳő ŉ Ŝů C Ķūί 

 



3) Ľź 33 ŗŚƌŐ Ŝŷ ŗŜ D ĳő F (36 ŗŚƌŐ) ĶŶ 

Ŭō Ű̄ œ ŏɭ ŏƎ ōŷŁū Ŝŷ ĳő ŗŜ ŇźŉźƁ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

4) 34 ŗŚƌŐ G, A (33 ŗŚƌŐ) ĶŶ ōūĮƁ śŶ Ņůśőū 

Ήņūŉ ŋő ōŷŁū Ŝŷ ĳő G ĶƎ Ʃ ĶŶ ŬŗŋőůŅ ŏŰķ 

ŬĶĮ ƞĮ Ŝŷί 

 

5) B (42 ŗŚƌŐ) ĶŶ ŋšźŬśŐźƁ ŏƎ śŶ ĮĶ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

ĦśŬœĮ, 45 ŗŚƌŐ ˧ Ůǃ ĶŶ ōūĮƁ ōŷŁū ˧ Ůǃ 

33 ŗŚƌŐ ˧ Ůǃ ĶŶ ōūĮƁ śŶ 5 ŗƎ Ήņūŉ ŋő ōŷŁū 

Ŝŷί 

 

96. 

C Ľź 37 ŗŚƌŐ Ŝŷ, D (40 ŗŚƌŐ) ĶŶ ōūĮƁ śŶ 

Ņůśőū Ήņūŉ ŋő ōŷŁū Ŝŷ ĳő ŇźŉźƁ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

2) Ľź 45 ŗŚƌŐ Ŝŷ, ŗŜ ŉ Ņź D Ķū ŬŉĶŀŅŏ 

ŋšźśů Ŝŷ ĳő ŉ Ŝů C Ķūί 

 

3) Ľź 33 ŗŚƌŐ Ŝŷ ŗŜ D ĳő F (36 ŗŚƌŐ) ĶŶ 

Ŭō Ű̄ œ ŏɭ ŏƎ ōŷŁū Ŝŷ ĳő ŗŜ ŇźŉźƁ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 



4) 34 ŗŚƌŐ G, A (33 ŗŚƌŐ) ĶŶ ōūĮƁ śŶ Ņůśőū 

Ήņūŉ ŋő ōŷŁū Ŝŷ ĳő G ĶƎ Ʃ ĶŶ ŬŗŋőůŅ ŏŰķ 

ŬĶĮ ƞĮ Ŝŷί 

 

5) B (42 ŗŚƌŐ) ĶŶ ŋšźŬśŐźƁ ŏƎ śŶ ĮĶ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

ĦśŬœĮ, G Ķū ŏŰķ ĶƎ Ʃ ĶŶ ŬŗŋőůŅ Ŝŷί 

 

97. 

C Ľź 37 ŗŚƌŐ Ŝŷ, D (40 ŗŚƌŐ) ĶŶ ōūĮƁ śŶ 

Ņůśőū Ήņūŉ ŋő ōŷŁū Ŝŷ ĳő ŇźŉźƁ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

2) Ľź 45 ŗŚƌŐ Ŝŷ, ŗŜ ŉ Ņź D Ķū ŬŉĶŀŅŏ 

ŋšźśů Ŝŷ ĳő ŉ Ŝů C Ķūί 

 

3) Ľź 33 ŗŚƌŐ Ŝŷ ŗŜ D ĳő F (36 ŗŚƌŐ) ĶŶ 

Ŭō Ű̄ œ ŏɭ ŏƎ ōŷŁū Ŝŷ ĳő ŗŜ ŇźŉźƁ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

4) 34 ŗŚƌŐ G, A (33 ŗŚƌŐ) ĶŶ ōūĮƁ śŶ Ņůśőū 

Ήņūŉ ŋő ōŷŁū Ŝŷ ĳő G ĶƎ Ʃ ĶŶ ŬŗŋőůŅ ŏŰķ 

ŬĶĮ ƞĮ Ŝŷί 



 

5) B (42 ŗŚƌŐ) ĶŶ ŋšźŬśŐźƁ ŏƎ śŶ ĮĶ ĶƎ Ʃ ĶŶ 

śˁŰķ Ŝŷί 

 

ĦśŬœĮ, D ĳő C ĶŶ ŏɭ ŏƎ Ňź ˧ Ůǃ ōŷŁŶ ŜƑί 

(C ĶŶ ŇūĮƁ śŶ) 

 

98.  

ŬŇŐū ĸŐū Ŝŷ ŬĶ, Ķņŉ I śŶ,śźŉű ĳő őŏŉ ĶŶ 

ōůĻ ŏƎ ĶŶ ŗœ ōƁŀů Ŝŷί ĦśĶů Ňź ŮΉņŬŅŐūƁ Ŝź 

śĶŅů ŜƑ: 

 

Ķņŉ II śŶ, 

ŋŗŉ ĳő śźŉű ĶŶ ōůĻ ŏƎ ĶŶ ŗœ śŰŏŉ Ŝŷί 

 

Ķņŉ I ĳő Ķņŉ II Ķź ĽźšŉŶ ŋő ŜŏƎ Ƭūʏ 

ŜźŅū Ŝŷ, 

 

ŇźŉźƁ ŮΉņŬŅŐźƁ ŏƎ, śźŉű ŋƁŮǃ ĶŶ ōůĻ ŏƎ ōŷŁū 

ƞĥ Ŝŷί 

ĤŅƂ, ŇźŉźƁ Ķņŉ I ĳő II śūņ ŏƎ Ƭ  ˰Ķū ĨɃő 

ŇŶŉŶ ĶŶ ŬœĮ ĤŬŉŗūŐƈ ŜƑί 

 

99.  

ŬŇŐū ĸŐū Ŝŷ ŬĶ, 

Ķņŉ I śŶ, 

őūňū ŘůŚƈ śŶ ŅůśŗƎ Ήņūŉ ŋő Ŝŷ ĳő ŉůŅū ŘůŚƈ 

śŶ ĻŻņŶ Ήņūŉ ŋő Ŝŷί 



 

Ķņŉ II śŶ, 

śŰŉůŅū, őūňū ĳő ŉůŅū ĶŶ ōůĻ ŏƎ Ŝŷί 

ĤŅƂ, ĶŶ ŗœ ŬĶśů ĮĶ Ķņŉ śŶ ̗  ˺ĨɃő ŉŜůƁ 

ŬŏœŅū Ŝŷί 

ŇźŉźƁ ĶņŉźƁ Ķź ĽźšŉŶ ŋő ŜŏƎ Ƭūʏ ŜźŅū Ŝŷ, 

 

ĤŅƂ, śŰŉůŅū Ķů őƑĶ ŘůŚƈ śŶ śŅőŜŗƎ Ήņūŉ ŋő 

Ŝŷί 

ĤŅƂ, I ĳő II ŇźŉźƁ ĶņŉźƁ Ķū ĨŋŐźĸ ĶőĶŶ 

Ŝŏ Ƭ  ˰Ķū ĨɃő ŇŶ śĶŅŶ ŜƑί 

 

100.  

ŬŇŐū ĸŐū Ŝŷ,Ķņŉ I śŶ, 

ŐŬŇ ĮĶ ˧ Ůǃ ŬōƁŇŰ A śŶ ĨɃő ŬŇŘū Ķů Ĳő 

4 ŏůŀő ĻœŅū Ŝŷ ĳő ŬōƁŇŰ C ŋő ŋƞſĻ ĽūŅū Ŝŷί 

ŬōƁŇŰ B, ŬōƁŇŰ C śŶ 8 ŏůŀő Ķů Ňűőů ŋő Ŝŷί 

ĻűſŬĶ ŬōƁŇŰ B Ķů ŬŇŘū ŉŜůƁ Ňů ĸŐů Ŝŷ ĤŅƂ ŬōƁŇŰ 

B ĶŜůƁ Ŏů Ŝź śĶŅū Ŝŷί ĤŅƂ ĶŶŗœ ŐŜ Ķņŉ 

Ƭ  ˰Ķū ĨɃő ŉŜůƁ ŇŶ śĶŅū Ŝŷί 

Ķņŉ II śŶ,  

ŬōƁŇŰ D, ŬōƁŇŰ A ĶŶ ŋűŗƈ ŬŇŘū śŶ 2 ŏůŀő Ķů Ňűőů 

ŋő Ŝŷ ĳő ŬōƁŇŰ B ĶŶ ŋŬˬŏ śŶ 4 ŏůŀő Ķů Ňűőů 

ŋő Ŝŷί 

 

ĤŅƂ, A ŬōƁŇŰ B śŶ 6 ŏůŀő ŋŬˬŏ ŋő Ŝŷί 

ĤŅƂ, ĶŶ ŗœ Ķņŉ II śŶ Ŝŏ Ƭ  ˰Ķū ĨɃő ŇŶ 

śĶŅŶ ŜƑί 

 

 


